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Анотація до комплексної контрольної роботи.

Комплексна контрольна робота з дисципліни "Іноземна мова за фахом" відноситься до засобів діагностики якості вищої освіти, які згідно з ч.3, ст.11 Закону України «Про вищу освіту» є структурним елементом галузевого стандарту вищої освіти. Вони розроблені відповідно до наказу МОН України від 23.01.2004 № 48 «Про проведення педагогічного експерименту з кредитно-модульної системи організації навчального процесу». 
Комплексна контрольна робота може бути використана при проведенні самоаналізу вищого навчального закладу з метою корекції робочих навчальних програм, удосконалення організації навчального процесу та при проведенні акредитаційної експертизи з метою державної оцінки рівня підготовки студентів. Представлені завдання наведені у 30 варіантах. Термін виконання завдань складає 2 академічні години.
Мета і головні завдання
Програма комплексного вступного іспиту розрахована на студентів, які здобули освітньо-кваліфікаційний рівень бакалавр.
Вимоги до студентів, які здають вступне випробування.
Студенти повинні вміти:
·  володіти іноземною мовою на рівні “Незалежного користувача підрівня “В2” і спілкуватися нею з дотриманням фонетичних, лексичних та граматичних норм в різних ситуаціях в межах опанованих комунікативних та лінгвокраїнознавчих тем;
·  розуміти основні ідеї та більш детальну інформацію з урахуванням знань та навичок, отриманих в практичному курсі іноземної мови та інших курсах, які викладалися студентам;
·  реферувати і анотувати іноземною мовою суспільно-політичні, публіцистичні та науково-популярні тексти;
· здійснювати письмовий переклад текстів з іноземної мови на рідну і з рідної на іноземну в межах опанованого лексико-граматичного матеріалу;
·  користуватися словниками та довідниковою літературою.

	СТРУКТУРА КОМПЛЕКСНОЇ КОНТРОЛЬНОЇ РОБОТИ	

Комплексна контрольна робота з практичного курсу іноземної мови за фахом передбачає перевірку і оцінку сформованості у студентів мовної, мовленнєвої та соціокультурної компетенції, наявність у них знань основ мови, а також здатності та готовності реалізувати здобуті знання та вміння в майбутній практичній діяльності.

Комплексна контрольна робота проводиться у вигляді письмового іспиту, який складається з двох частин, перша з яких є нормативною частиною, а дві інші становлять варіативну частину і відрізняються в залежності від факультету та спеціальності.
1. Контрольне завдання, яке містить 30 питань в формі лексико-граматичного тесту. Пропоновані завдання побудовані за принципом множинного вибору. На виконання цього завдання надається 90 хвилин.
2. Читання та розуміння автентичного загальнонаукового тексту розміром приблизно 1500 друкованих знаків за спеціальністю, під час якого студенту пропонується виконати завдання в формі відповідей на  п’ять питань «Так» або «Ні» (True/False) за змістом прочитаного. На виконання цього завдання надається 20 хвилин.

Критерії оцінювання на вступному іспиті з іноземної мови

Загальні положення
Результати усіх видів вступного випробування визначаються оцінками “відмінно”, “добре”, “задовільно”, “незадовільно”.
Загальна оцінка вступного випробування визначається із окремих оцінок, одержаних студентом на письмовому екзамені.
1. Оцінювання лексико-граматичного тесту здійснюється  за принципом: “одна правильна відповідь — один бал”

Критерії оцінки: 30 — 25 балів — “відмінно”
                             24 — 19 балів — “добре”
                             18 — 13 балів — “задовільно”
                            12 балів та менше —“незадовільно”
2. Читання та розуміння автентичного загальнонаукового тексту оцінюється за наступними критеріями:
0 помилкових відповідей – “відмінно”
1 помилкова відповідь -“добре” 
2 помилкові відповіді - “задовільно”
3 та більше помилкові відповіді - “незадовільно”
Пріоритетною при виставленні загальної оцінки за завдання є перша частина
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Варіант 1
1. Оберіть вірний варіант (a, b, c або d)

1. The discussion . . . very interesting. It is a pity I couldn’t stay.
a) was 	b) will be 	c) would be 	d) were
2. I have to do some extra work now because one of my colleagues … a holiday.
a) has 		b) has had 	c) is having 	d) would have
3. If it … a country, California would be one with more people than Canada and an economy the size of China's.
a) would be 	b) has been 	c) will be 	d) were
4. So far no attempts …to improve the situation. 
a) must to be made	b) will make	 c) haven’t been made	d) have been made
5. The result of this study is intriguing, and surely worth … in a larger piece of research.
a) to follow up 		b) to be followed up 	c) following up	d) followed up
6. The danger of radiation for human health makes us … different means of protection.
a) develop		b) to have developed	c) to develop	d) to be developed
7. For the first time since the industrial revolution, … than 10% of American workers are now employed in manufacturing.
a) least			b) more 			c) as many as 	d) farther
8. It will take months for the new proof … thoroughly.
a) being checked		b) to be checked 		c) checked   d) to check
9. The conference was devoted to the subject they ... for two years.
a) had been investigating		b) investigated 		c) will investigate		d) investigate
10. Technological improvements are needed … wind, solar and hydrogen can be more viable parts of the energy equation.
a) lest		b) because of	c) so that	d) unless
11. It is important that this project should be adequately financed. Then… .
a) a number of other difficulties will appear 	c) it will succeed
b) there is little hope that it will succeed 		d) it will be too late
12.… this theory may seem it does have some weak points.
	a) No matter how convincing	 b)In spite of convincing 	c) Provided it is convincing d) In order to convince
13. She hasn't begun working on her Ph.D. … working on her master's.
a) still because she is yet	b) yet as a result she is still	c) still while she is already	d) yet because she is still
14. The more she worked, ….
a) the less she achieved	b) she achieved not enough	c) she did not achieve enough	d) she was achieving less
15. He has received several scholarships ….
a) not only because his artistic but his academic ability 	c) because of his academic and artistic ability
b) for both his academic ability as well as his artistic		d) as resulting of his ability in the art and the academy
16. In software construction there are some techniques that permit us to recognize ….
a) if not correct a given program is	  b) if a given program is correct   c) or is a given program correct  d) isn't a given program correct
17. The students liked that professor's course because ….
a) there was few if any homework 			c) there was little or no homework
b) not a lot of homework was			d) of there wasn't a great amount of homework
18. There has already been mentioned the fact that scientific discoveries … .
a) which cannot be wholly dealt with on a national scale 	c) proving scientists’ new hypotheses
b) makes the problem far more complicated than it seems 	d) are greatly assisted by the developments in research techniques
19. Not only has demand been high, but … is coming from places that are hard to reach.
a) also the oil we have been finding	b) unless we found oil	c) finding the oil	d) we have been finding oil
20. The chairman requested that … ..
a) the members studied more carefully the problem 	c) with more carefulness the problem could be studied
b) the problem would more carefully be studied	d) the members studied  the problem more carefully
21. We also have a series of public lectures given by guest speakers.
a) number	b) matter	c) means	d) sort
22. It is now common corporate policy for a company to have a mission statement explaining the aims of the business.
a) strategic	b) domestic	c) international 	d) organizational
23. I want you to illustrate your point by providing some supporting examples.
a) receiving	b) removing	c) obtaining	d) supplying
24. More and more students decide to study for a Master’s degree to enhance their knowledge. 
a) employ	b) improve	c) evaluate	d) apply
25. You are obliged to present an electronic version of your report.
a) informed	b) known	c) required	d) proposed
26. The amount of money owed by some countries is so enormous that it will probably never be repaid.
a) insufficient	b) huge 		c) tiny		d) average
27. The experiments were conducted simultaneously in London and Rome.
a) at the same time	 b) step by  step		c) in the same place	d) from time to time
28. When testing a hypothesis, every effort is made to eliminate subjective or biased ideas.
a) consider	b) modify	c) avoid		d) reduce
29. People should be aware of the ecological threats caused by this kind of production.
a) ignorant	b) careful	c) conscious	d) opposite
30. Scientists are still disputing about the origin of the Universe.
a) experimenting		b) arguing	 c) thinking 	d) explaining

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
New products for the cyclist
Manufacturers need to keep up to speed, says Peter Marsh
	As a keen cyclist, Yoshizo Shimano knows all about the importance of keeping in touch with his company's products. Mr Shimano is president of Shimano, the world's biggest maker of bicycle components. Frequently, he borrows a bike from the company's R&D division to keep in touch with what researchers are up to.
	'We won't compete with our customers by building complete bikes. But we must keep in mind how our components are going to be used and have a vision of the product that is safe as well as being fun,' he says.
	Mr Shimano's interest in trying out bicycles containing his company's components underlines how manufacturers must pay increasing attention to bringing out new products. These must either solve a pressing customer problem or come up with an idea that breaks completely new ground within a few years.
	'For example, if the cyclist does not have to change gears, he can concentrate on other aspects of controlling the bike which is likely to lead to safer journeys,' says Mr Shimano.
									From the Financial Times
1	Mr Shimano often cycles.
2	Shimano makes complete bicycles.
3	Shimano pays attention to how its products are used by its customers.
4	To succeed, new products must solve a problem or be based on a completely new idea.
5	Mr Shimano talks about reducing the weight of bicycles.
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Варіант 2
1. Оберіть вірний варіант (a, b, c або d)

1. Henry Ford’s introduction of the assembly line vastly reduced the time it took …
a) to make a car		b) making a car 		c)for making car		d)a car to make
2. In terms of population, Bangkok, Thailand , is … than Barcelona, Spain.
a) as large	b) larger		c)the largest	d) more large
3.France, where this process …, took an early lead in aluminum production.
a) was developed 	b) will develop	c) has developed		d)were to develop
4.Until 1845, scientists failed to discover a process which … separate aluminum from its various alloys.
a) must		b) could		c)will		d)ought
5.Mr Williamson  … the firm soon whether or not he voluntarily turns in his resignation.
a) has left	b) are leaving	 c)have left	d)will be leaving
6. … he got the best grade on the quiz surprised everyone.
a) the fact what	b) the fact that 	c) the fact if	d)  the fact when
7.That experiment demonstrates that people have trouble …more than seven digits in sequence.
a) recalled	b) being recalled	c	c) recalling	d) having recalled
8.They stated that the book … especially for the computer professional.
a) will design	b) was designed		c)had designed	d)would design
9.That company’s electric cars … to be virtually trouble-free.
a) report		b) are reporting 		c)reports	d)are reported
10.It is essential that she … us beforehand.
a) is calling	b) shall call	c)should call	d)was to call
11.The project faced a whole series of difficulties. Yet, despite all of them… .
a) the organizers decided to abandon their plan.	c) it was a complete failure.
b) it proved to be a great success.			d) the difficulties were impossible to overcome. 
12.It is important that this project be adequately capitalized and that strict accounting procedures be applied from the beginning. Otherwise , … .
a) its success will be assured		c) there are a number of further measures which should be taken
b) there is little hope that it will succeed		d) nothing will go wrong
13.Scientists know that the huge Hola crater in Arizona was made by a meteorite, but do not know exactly … .
a) when did the meteorite hit the earth	c) when the meteorite the earth hit	
b) when the meteorite hit the earth		d) when did the earth hit the meteorite
14. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated 	d) Having translated 
15.The number of Internet buyers in Latin America is growing fast, … .
a) while Europeans do not like electronic commerce		c) though one can have a computer now
b) yet, you can always find products on the Internet		d) however, there are many advantages to buying on the Internet
16. The road repairs . . . on the motorway had seriously delayed the traffic.
a) will carry out	b) having carried out	c) being carried out	d) to carry out
17…, ozone levels in the ionosphere have dropped recently.
a) However the reason	b) They are the reason	c) What is the reason	d) Whatever the reason
18 Our firm seems  . . . a large number of outdated computers.
a) to have 	b) have		c) has		d) having  

19. He didn’t know how long the staff training course . . . 
a) will last	b) lasts		c) can last	d) would last
20.While dozens of popular authors claimed to be experts on the subject, … .
a) there were much other such authors		c) none of them had studied it in a systematic way
b) some of the authors are not really so popular	d) there being no experts on other subjects
21. The company has experienced a number of significant changes in the last few years.
a) influenced	b) undergone		c) required	d) implemented
22. You should speak more loudly and more slowly when you want to emphasize an important point.
a) introduce 	b) stress		c) discover	d) report
23. The North Americans consume more energy and resources than any other nation.
a) use 		b) generate	c)make		d) apply
24. One of the most important skills to learn is how to utilize your time effectively.
a) take notice of		b) pay attention to		c) take care of		d) make use of
25. The outcome of the experiment was a complete surprise to everyone.
a) beginning	b) start		c) result			d) launch
26. He is a pleasant colleague, and very proficient at his job.
a) skilled	b) profitable		c) popular	d) active
27. They declared that they had been the first to discover those facts.
a) proposed	b) introduced	c) stated		d) demonstrated
28. The theory proved to be correct and was a major breakthrough in the history of science.
a) true		b) valuable	c) unique		d) false
29. Communication between researchers is dependent on precise definition of concepts and ideas.
a) faulty		b) broad		c) accurate	d) standard
30. The results obtained signify that we still know very little about these phenomena.
a) convince	b) disprove	c) guarantee		d) indicate

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
George Cole
	Norwich Union is one of the UK's leading financial services companies, dealing with life assurance, pensions, investments and insurance. When customers call Norwich Union Direct, their call may be handled by any one of four call centres. Each centre has 300 agents or, as Norwich Union Direct prefers to call them, tele-executives, and the business handles 20,000 calls a day.
	Each call centre is similar in design; with open-plan offices -15 senior management do not have separate offices. The tele-executives work in small teams of around 8 to 12 people. Between each desk is a low screen, which provides some privacy, but without making employees feel isolated.
	A team coach sits next to the employee during the first stages. 'There is a lot of hand-holding,' says Jackie Connolly, the company's customer services director. 'We try to encourage a mind-set which says that you're not just dealing with 60 accident claims a day, but with 60 different customers.'
	There are regular meetings with team coaches and the team leader, and team games are organized to promote healthy competition. 'We're more interested in quality than quantity,' says Mrs Connolly. 'We carry out a lot of customer 40 research to ensure that we are servicing their needs.'
									From the Financial Times
1	If you feel isolated, you feel lonely, with no contact with other people.
2	There is a lot of hand-holding of new employees at Norwich Union Direct. This means that coaches and employees literally hold each other's hands.
3	If you have a particular mind-set, you have a particular way of thinking about something.
4	If there is healthy competition between people, it damages them and makes them feel bad.
5	If customer needs are serviced, their needs are satisfied.
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Варіант 3
1. Оберіть вірний варіант (a, b, c або d)

1. The system is dangerous, . . . must use it.
a) everything	b) anybody	c) no one	d) somebody
2. She plans . . . to study the alternatives and to implement them soon.
a) also		b) both		c) either		d) not only
3. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated		d) Having translated
4. The trainee . . . writing the report before the director came.
a) finished 	b) was finishing		c) should finish		d) had finished
5. They like to work in the central public library and so . . . I.
a) do		b) like			c) am		d) work
6. . . . more attention is now being paid to environmental issues.
a) Great		b) Very 		c) Much		d) Too
7. The device is very delicate and has to . . .  with great care.
a) be handled 	b) be handling		c) handle	d) being handled
8. These methods of purifying industrial wastes . . . much attention to recently.
a) was given 		b) have been given		 c) were giving		d) had to been given
9. He . . . left a message for you, here it is.
a) was 			b) is		 c) will			 d) has
10. When you wake up tomorrow, I . . . over the Atlantic ocean.
a) would fly 		b) will be flying 		c) must fly		d) can fly
11. If she … a skilled programmer, they would offer her a good position in a big company.
a) been			b) being 		 c) were			d) should
12. He didn’t know if there . . . a special mechanism used in the process.
a) have existed		b)were existing 		c) existed		d) exist
13. If I had remembered his number, I would . . . him.
a) telephone 	b) be telephoning		c) telephoning		d) have telephoned
14. The European computer companies insisted that a better relationship with the public authorities . . . be built in Europe.
a) should to	b) will		c) had to 	d) are to
15. They won’t change their decision until they . . . more information.
a) got 		b) get		c) will get	d) would get
16. They discussed their points after they . . . the contract.
a) have signed 		b) signing 		c) having signed		d) had signed
.17.  . . at from this point the problem doesn’t seem too difficult. 
a) Looking 	b) Having looked		c) Will be looked		d) Being looked
18. He was sorry because he. . . the device before.
a) not having tested 	b)does not test		c) hadn’t tested 		d) isn’t testing
19. The gravitational forces do not let the planets ... the solar system.
a) leave		b) leaving	c) to be left		d) to leave.
20. Our firm seems  . . . a large number of old computers.
a) to have		b) have			c) has 		d) having
21. University regulations state that students must pass 18 modules to graduate.
a) promote	b) plan			c) report		d) declare
22. Most economists forecast that China will become a leading world economy in the 21st century.
a) consult	b) discuss		c) predict	d) offer
23. These countries are forced to rely on aid from richer nations in order to feed their population.
a) give up 	b) look after	c) go on		d) depend on
24. The new computer system created a lot of interest among potential users.
a) generated	b) maintained		c) lost		d) showed
25 Employees are keen to recruit people who have at least a basic ability in computing.
a) research 	b) qualification		c)contribution	d) application
26. Preliminary results suggest that we are going in the right direction.
a) experimental 		b) initial		c) encouraging		d) ultimate
27. Don’t assume something is true until facts confirm it.
a) accept	b) deny 		c) describe	d) predict
28. The University must make sure that your English is sufficient.
a) excellent 	b) moderate		c) huge		d) adequate
29. When the government increased the tax on petrol, there was a significant rise in transport costs.
a) resultant	b) considerable		c) continuous	d) simultaneous
30. Until the last century, this concept was regarded as a ridiculous idea.
a) suggested		b) preferred		c) considered		d) applied

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Starting every day with a song
By Virginia Matthews
	For staff and managers at Asda, each working day gets off to a raucous start. 'Give me an A!' they cry, 'Give me an S! Give me a D! 'Give me an A! What does that spell? Asda!'
	Customers of the supermarket chain may be alarmed to see and hear the company chant, but Asda insists chanting, singing or hand – clapping is one of the best motivational tools around.
	Asda's spokeswoman says she believes the daily chant unites the workforce. Asda's chant was adapted for the UK from the version sung at Wal-Mart, its parent company. The song now accompanies all sales conferences, company events and even management meetings.
	'The directors are just as happy to chant as the cashiers are and they have told us that it helps them get through the business of the day more efficiently and quickly. Chanting isn't compulsory though,' she adds, 'and if people don't want to join in, they won't be penalised. As for the customers, they love to see us enjoying our work with a good shout and sometimes they even want to join in.'
									From the Financial Times
1	The company chant at Asda is for staff only, not managers.
2	The chant is made up of the letters of the company's name.
3	A chant is a type of song.
4	Asda believes the chant motivates employees and makes them work better.
5	The chant is exactly the same as the one used at Wal-Mart.
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Варіант 4
1. Оберіть вірний варіант (a, b, c або d)

1. Active research on genetic problems ... for about seventy years now.
a) was carried on		b) has been carried on		c) is being carried on		d) is carried on
2.	When I ... my present work, I will start writing my doctoral thesis.
a) will be completed		b) shall complete		c) complete 		d) have been completing
3.I ... through a few English papers last week but I couldn't find a spare minute.
a) should look			b) had to look		c) could 		d) have been looking
4. He usually ... his work day with checking the apparatus.
a) starts		b) starting			c) has started		d) is starting
5. I wonder ... he will come in time.
a) weather		b) what				c) whether 		d) that
6.I am now busy ... an exhibition at the institute.
a) to arrange		b) have been arranged		c) arranging		d) to be arranging
7.I ... a Ph.D. degree at this institute in 1984. 
	a) was received 		b) received		c) have been receiving	d) had received
8.	The problem is interesting enough ... much attention.
a) will attract			b) for attract		c) being attracted		 d) to attract
9.	It was shown thirty years later that G. Mendel's conclusions ... correct.
a) had been			b) was			c) are			d) have been
10.	For a detailed analysis I took the data ... by my research group.
a) obtained			b) obtaining		c) was obtained		d) having being obtained
11.	The gravitational field of the Moon has influence on the life of sea animals ....
a) had, in fact, never been observed     b) observations were made     c) is likely to be observed	d) as it proved by recent observations
12.	…Prof. N emphasized the importance of direct contacts among scientists.
a) Opened the conference		b) When opening the conference 	c) The longer the speech	d) It was
13.	Do you know ... ?
a) the atomic nucleus was discovered when			c) when was the atomic nucleus discovered
b) when the atomic nucleus was discovered			d) when was discovered the atomic nucleus
14.	... one or several electrons must leave the atom.
a) To form a positive ion 	b) The formation of a positive ion 	    c) It is a positive ion that is formed   d)Being a positive ion to form
15.	Many sciences today are so closely linked ....
a) however difficult to draw a line between them		c) that it's difficult to draw a sharp line between them
b) drawing a sharp line between them			d) leads to drawing a sharp line between them
16.	The interchange of information in future will be better than it is now ....
a) to take any form	b) any form to be taken 	c) take any form		d)whatever form it may take
17.	It is useful to learn ... is totally dependent on the environment.
a) however changing animal behaviour			c) if the change we see in animal behaviour
b) as a result of our observation				d) the more we observe animal behaviour
18.	... but they also make long-range predictions.
a) Although scientists explain well-known facts		c) Scientists explain not only well-known facts
b) Can't scientists only explain well-known facts		d) Scientists explaining well-known facts
19.	... that attracted most attention.
a) It was Brown's report	b) It being Brown's report	c) Having been Brown's report 	d) This will being Brown's report
20.	The more accurate the calculations ....
a) so the results 	b) are reliable results 	c) the more reliable are the results	d) for the results to be reliable
21.	We cannot view this problem on the basis of modern concepts.
a) from the point of view		b) in spite of		c) because of		d) along with
22.	The great advantage of the so-called graphic computers is in solving design problems.
a) weakness			b) illustration		c) strength		d) discomfort
23.	It is usually more economical to buy large quantities of a product than small quantities.
a) cheaper			b) more common		c) up-to-date		d) less political
24.	Human labor has the capacity to make use of the equipment and techniques available.
a) out-dated			b) reliable		c) accessible		d) new
25.	People seem to realize the potential dangers of some scientific discoveries.
a) want				b) appear		c) can			d) try
26.	Properties of any region of space depend considerably on the presence and form of matter nearby.
a) slightly			b) generally		c) in fact		d) greatly
27. Various ideas have been proposed to examine these phenomena.
a) record	b) describe		c) investigate		d) explain
28.	Both reports predict that the temperature change will be greater in the polar regions than near the equator.
a) object			b) forecast		c) undergo		d) compare
29.	Inequality is low in unchanging, "traditional" society, but rises as economic growth accelerates.
a) speeds up			b) dates back		c) arranges		d) begins
30.	Statistics may be defined as the branch of mathematics which is concerned with the use of collected numbers representing facts or measurements.
a) cooperates with		b) is opposed to		c) increases		d) deals with

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
The stress-free diet
Jerome Burne
	When a friend told Tony Cozzi that diet was the answer to the stress that he and his staff suffered from, he was sceptical. 'Massage, meditation, exercise, all seem likely to reduce stress, but not whether you eat nuts or crisps.'
	Despite his scepticism, he went to a nutritionist and signed up the staff for two months of rice, salads, fresh fruit, yoghurts and nuts in place of the usual rolls, crisps, Mars Bars and the like.
	The results at ASAP, the design and marketing company Cozzi owns, were miraculous. All the seven staff who took part lost weight; Cozzi started sleeping properly and stopped snapping at everyone. Everyone claims to have more energy, and the number of days when someone is sick has dropped from five a month to one. Only the one individual who went back to his chips and chocolate seems to get sick these days.
	'This is a very stressful job,' says Cozzi. 'It's a great place to work and we all love it, but it's deadlines, deadlines, deadlines all the time. Everyone is stretched and when one person goes off sick everyone has to work twice as hard. For some time I'd been looking for ways of helping us all deal with stress better. Now I've found the answer.'
									From the Financial Times
1	If you suffer from something it is good for you.
2	If you are sceptical about something, you believe it.
3	Massage is a type of written communication.
4	Meditation is when you try to relax by emptying your mind of all thoughts and feelings.
5	If you sign someone up to do something, you make an agreement that forces them to do it.
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Варіант 5
1. Оберіть вірний варіант (a, b, c або d)

1.	I think, very soon a cure for AIDS ....
a) will find		b) will have found		c) will be found		d) will have being finding
2.	Would you mind ... me a copy of your conference paper?
a) having sent		b) sending			c) to send		d) sent
3.	Your reception room is bigger than ....
a) our			b) ours				c) we			d) us
4.	We heard him ... this story yesterday.
a) to tell			b) told				c) tell			d) has told
5.	What would you write about if you ... a popular writer?
a) were			b) would			c) had been		d) are
6.	We hadn't heard from him for a long time. He ... wrote nor telephoned.
a) either		b) nor				c) neither		d) didn't
7.	Who ... in the house?
a) do live		b) does live			c) lives			d) live
8.	Have you ever been to England? - Yes, I ... there last year.
a) was been		b) was				c) had been		d) have been
9.	When ... to ionizing radiation, living cells cannot perform their normal functions.
	a) exposed		b) exposing				c) have exposed		d) expose
10. I can't attend his today's lecture because I ... to work.
a) must			b) had				c) can			d) have 
11. These facts …. since last century.
a) have been observed	b) were observed			c) are observed		d) are being observed
12.	Very soon this work ... us many discoveries of great importance.
a) has brought	b) will be brought		c) brings			d) will bring
13.	For hundreds of years people ... of cosmic flights.
a) are dreaming	b) have been dreaming	c) have been dreamed	d) are being dreamed
14.	The head of the laboratory ... to check everything himself.
a) are	b) be able			c) had			d) must
15.	There is no doubt that radio and TV are among the … miracles of modern science.
a) most great	b) more greater		c) greatest		d) most greatest
16    The question ... at next Thursday's meeting concerns all of the laboratory staff.
a) to be discussing	b) discussed			c) being discussed	d) to be discussed
17.	I watched them ... the equipment.
a) installed	b) installing			c) were installing		d) had installed
18.	Nobody expected them ... a discovery.
a) to make	b) would make		c) made			d) make
19.	The value of his research ... not be underestimated.
a) are	b) must			c) has			d) is
20.	He must ... his attempts to obtain better results several years ago.
a) give up	b) have given up		c) gave up		d) has given up
21. I do believe that the problem can be split into three levels.
a) interpreted	b) divided			c) solved		d) looked at
22. Governments should set limits for engine sizes and production.
a) approach		     b) introduce			c) balance		d) recognize
23. The book summarizes recent developments in this field.
	a) includes			b) ends with		c) is full of		d) sums up
24. Science provides the means of profiting from knowledge of the laws of nature.
	a) keeping up-to-date with		b) encouraging		c) taking advantage of	d) improving
25. Technology is supplying science with more and more sophisticated instruments.
	a) providing			b) demanding		c) joining		d) competing
26. That factory is producing more and more pollution.
	a) products			b) raw materials		c) harmful effect		d) influence
27.Estimation of a scientific discovery requires personal involvement in the research.
	a) structure			b) simulation		c) development		d) evaluation
28. What conditions must be observed so that you may obtain the desired result?
	a) noticed			b) maintained		c) measured		d) contained
29. Humankind can only survive by accepting responsibility and acting upon it.
	a) exchanging			b) comparing		c) taking on		d) developing
30. The intensive study of plasma could give us in the future an inexhaustible source  of power.
	a) cheap				b)non-traditional		c) exciting		d)renewable

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
In the bag
Michael Skapinker
	If you want to be a hero, an engineer once told Steve Gleich, then solve the banana bag problem in Costa Rica. What, asked Mr Gleich, a researcher at DuPont, the US science group, was the banana bag problem?
	The engineer pulled a bag from his drawer. Costa Rica used millions of them to cover bunches of bananas, he said. The bags were Nappies (AmE: diapers) worn by babies. used as miniature hothouses to ripen the bananas while protecting them during transport. Imagine the work involved in removing them from every bunch and the financial and environmental cost of disposing of them.
	Mr Gleich had the answer: Biomax, a material that naturally decomposes. The DuPont researchers who developed Biomax had first thought of using it for disposable nappies. Nothing had come of that. Why not banana bags that would disintegrate as the fruit ripened? Del Monte's Costa Rican banana operation was interested - but then the country manager had an unrelated disagreement with his head office and refused to take any more bags. More than a decade after DuPont first came up with Biomax, it has yet to find a use for it.
									From the Financial Times
1)	Biomax remains in the same state for many years.
2)	It had been planned to use Biomax to make nappies, but this did not happen.
3)	Biomax was used to make special bags for bananas.
4)	The bags were not a success for the company
5)	DuPont has found many other uses for Biomax.
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Варіант 6
1. Оберіть вірний варіант (a, b, c або d)

1.	It is important... with the task.
a) him to cope		b) for him cope		c) for him to cope		d) he cope
2.	Lasers ... in research since the early 1960's.
a) have been used		b) are used		c) were used			d) are using
3.	He said he would ring me up when he ... his work.
a) will finished		b) finished		c) finish				d) finishes
4.	... who did it.
a) There is me		b) It is mine		c) There is mine			d) It is me
5.I wonder ... he will come in time.
a)	 weather		b) what			c) whether			d) that
6.	It is necessary that applied research ... in cooperation with industrial engineers.
a) are be carried on	b) to be carried on	c) must be carried on		d) being carried on
7.	When I arrived at work I realized that I... my report at home.
a) had left		b) left			c) leave				d) was leaving
8.	If I ... him yesterday, I would have discussed the question with him.
a) saw			b) had seen		c) would see			d) see
9.	If you use pictures and slides, your report will be much .... 
a) interesting		b) most interesting	c) the most interesting		d) more interesting
10.	The results of his experiments are supposed ... very interesting.
a) be			b) to be			c) been				d) had been
11.	When you ... some news let me know.
a) would get		b) get			c) will get			d) should get
12.	If business drops by 50% I think I... my job.
a) am losing		b) will lose		c) lose				d) have been loosing
13.	Before we appointed the new Chairman, our share price ... very low.
a) would be		b) were being		c) have been			d) had been
14.	He didn't study law ... he is not a prosperous lawyer.
a) so			b) because		c) due to				d) in order that
15.	... the necessary production facilities, the company entered production.
a) Has to set up		b) Having set up		c) Set up			d) To be set up
16.	She proved ... a well-read person.
a) being		b) been			c) has been			d) to be
17.	... a new building to be a success, it has to be the right design.
a) In order		b) So as			c) As well as			d) With
18.	She told me she ... to Milan at the end of next month.
a) came		b) will come		c) was coming			d) would come
19.	The fire ... by the electric fault.
a) was caused		b) should have caused	c) caused			d) was causing
20.	If we had any further information, we ... you immediately.
a) did contact		b) would contact		c) had contacted			d) will contact
21 The disadvantages of this analysis of the problem have been discussed carefully.
a) advantages 	b) perspectives		c) reasons			d) drawbacks
22.Many environmentalists feel that many changes in production are necessary.
a) ecologists	b) manufacturers		c) educationalists			d) reformists
23. The measurements are carried out with conventional equipment.
	a)	modernized		b) ordinary		c) unique			d) special
24 Have they found any direct evidence against that widely spread conception?
a) opinion	b) proof			c) view				d) principle
25.Conservation of nature often conflicts with agriculture and industry interests.
a) observation	b) explanation		c) preservation			d) exploration
26. This system lifetime was greatly increased due to the application of this device,
a) utilization	b) demonstration		c) modification			d) installation
27. The development of electric cars is under way in a number of countries
a) in progress	b) under discussion	c) out of question			d) in advance
28.	Various ideas have been proposed to look into these phenomena.
	a) record		b) investigate		c) describe			d) explain
29.	From the earliest times, men have observed changes that happen in nature.
a) take place	b) result		c) meet				d) take part
30.	Articles in daily use which are made of plastics are familiar to everybody.
a) papers	b) objects		c) subjects			d) packages

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Expansion in a downturn
Harriet Arnold
	Expansion in an economic downturn is possible for smaller businesses, says Colin Barrow, director of the business growth and development programme at Cranfield School of Management. The challenges are tougher than in good times but small and medium-sized, enterprises can still grow, he says, and some of them may be better placed than bigger businesses. He says owner-managers should focus on customers and finance:
1 Hang on to customers and research how much more they could order from the business.
2 Concentrate on working capital* - 'the smaller the business the worse they are at controlling capital,' says Mr Barrow. He says that often the money they need is already there: 'Many small companies take 90 days to collect payment. Finding ways to reduce that to days would greatly reduce the cost of capital.' The area of greatest weakness in most small businesses' strategic thinking is in finance. 'Most small companies are financed by overdraft, the worst source of money,' he says, and advises building links to other sources of finance.
									From the Financial Times
* working capital: the money a business needs to operate, for example to pay its suppliers and employees before it gets paid by its customers. t strategic thinking: how a company thinks it should develop in the long term.

1	It is not possible for small companies to grow during economic downturns.
2	Small companies are in a worse situation than big companies during downturns.
3	Small companies should look especially at their customers and their finances.
4	If small companies were paid more quickly, they would have fewer financial problems.
5	Overdrafts (= borrowing money from a bank by spending more than is in your account) are a good source of finance in case of difficulty.
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Варіант 7
1. Оберіть вірний варіант (a, b, c або d)

1. Since the 17th century economists __________ methods for studying the use of economic resources. 
a) has developed		b) have been developing		c) are developing			d) have been developed
2. They ______ to start the project a month ago.
a) might 		b) must				c) had 				d) should
3. The data __________ outweighed those that we had had before.
a) obtained		b) obtaining			c) to obtain			d) to be obtained
4. They suggest that such results _____ very carefully considered.
a) should be 		b) to be				c) must been			d) would be
5. We had our plan _____ by the board yesterday.
a) approving 		b) to approve			c) will be approved		d) approved
6. During tomorrow’s demonstration ______will be an interval of fifteen minutes.
a) it			b) they				c) there				d) here
7. This computer is so simple that it ________ be operated by anyone.
a) can 			b) is able to			c) need				d) ought
8.  It will take months for the new proof … thoroughly.
a) being checked  	b) to be checked			c) checked			d) to check
9. The experiments show agreement with the theory ________ the conditions are met.
a) unless			b) since				c) so that			d) if
10. The field tests were postponed _____ unfavorable weather conditions.
a) because of 		b) on account			c) because			d) since
11. Having been asked to speak at the symposium, _____________
a) some notes were prepared for Dr Knapp.			c) some notes were prepared by Dr Knapp
b) Dr Knapp prepared some notes.				d) the participants were pleased to hear Dr Knapp.
12 ________  any further details, we will inform you immediately.
a) If we found out	b) If we find out 			c) Should we have found out	d) Had we found out
13. Only the first choice was hard to make, _____________
a) no trouble weren’t causing by the rest of the choices.	c) no trouble to cause by the rest of the choices.
b) the rest of the choices to  be caused no trouble.		d) the rest of the choices causing no trouble.
14. It is possible for computers __________ all types of information.
a) that they handle		b) handling 		c) to handle 			d) when handling
15. _______ one of our European representatives.
a) Don’t forget to contact		b) Let contact		c) Miss not to contact		d) Don’t let contact
16. We must admit that the old method _________ some difficulties.
a) causing			b) causes		c) cause				d) to cause
17. France has not taken any decision yet, and
a) neither has some of the other countries. 			c) several other countries hasn’t either.
b) some other countries also haven’t. 			d) neither have several other countries.
18. I am looking forward to __________ with good news.
a) when you return		b) when you will return		c) your returning 		d) return you
19. He can’t recall when and where_______ that model.
a) he saw			b) did he see			c) does he see		d) he will see
20. It was essential that we _______ fresh data to confirm our idea.
a) would obtain		b) will obtain		c) to obtain		d) shall obtain
21. We can estimate the future growth of production.
a) guess			b) value			c) provide		d) prove
22. The computer has a word processing facility.
a) defect			b) institution		c) source		d) installation
23. It is a versatile material because it can be used in a great number of ways.
a) waterproof		b) man-made		c) scarce			d) many-sided
24. Madame Curie inspired many women to do scientific research.
a) implied		b) assisted		c) required 		d) stimulated
25. The discovery was significant and paved the way for other scientists’ work.
a) important		b) universal		c) available 		d) ordinary
26.The premises can be adapted  for our purposes.
a) provided		b) substituted		c) adjusted		d) improved
27. The amount of money owed by some countries is so enormous that it will probably never be repaid.
a) insufficient		b) huge			c) tiny			d) average
28. Although these theories were believed to be true for centuries, they were discredited by further experiments.
a) supported		b) disregarded		c) disproved		d) satisfied
29. These materials and products are expensive partly because they are so deficient.
a) abundant		b) rare			c) complex		d) vital
30. Success was attained after numerous experiments.
a) observed		b)achieved		c) produced		d) occurred

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
How to make money from internet news operations
Nicholas George
	On the Internet since 1994, the Swedish newspaper Aftonbladet claims to have been Europe's first major internet newspaper. What's more, in an area characterised by financial losses, it has made a small profit for the past four years.
	But this year, things may be different. Despite huge viewing figures, Aftonbladet's internet operations will make a loss as advertising income, which accounts for 85 percent of its revenue, slows sharply.
	Now, along with other newspaper sites, Aftonbladet is looking at how to charge for its services without losing readers who have come to regard free access as a го right. 'The present business model is just not efficient, especially when advertising is falling,' explains Kalle Jungkvist, editor-in-chief of Aftonbladet New Media.
	Sweden is among the most advanced internet markets in the world with internet penetrationrates of about 58 percent. This is the highest in the EU, according to Net Figures, the UK statistics group.
	Yet high numbers of viewers have not been enough for advertisers who are doubtful about online marketing - dotcom adverts have almost disappeared. Charging provides a much-needed new source of revenue. But how to persuade people to pay for something that until now has been free?
						From the Financial Times.
1	Aftonbladet has been available on the Internet for more than six years.
2	It has made a loss each year.
3	This year it will make a profit.
4	It is looking at ways of charging for access.
5	Its editor is happy with the present situation.
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Варіант 8
1. Оберіть вірний варіант (a, b, c або d)

1. They ________ some kind of agreement by the end of next year. 
a) have reached		b) are reaching		c) had been reached		d) will have reached
2. An experienced manager _______ think too much before taking decisions.
a) doesn’t have to	b) needn’t 		c) won’t be able			d) hasn’t to
3. ___________ they do the results of their work are always good.
a) Moreover		b) In view of		c) Whatever 			d) However
4. It was important that we _______ fresh data to confirm our idea.
a) would obtain		b) must obtain		c) to obtain			d) shall obtain
5. They are still having their computer ______
a) repairing 		b) repaired		c) to repair			d) to be repaired
6. _____ seems to be something wrong with my modem.
a) It 			b) There			c) Me				d) Here
7. When I finish the course next year, I _______ speak perfect French.
a) will			b) can			c) will been			d) won’t be able
8. Cuba is _______ sugar-growing areas in the world.
a) one  most largest	b) one of the larger	c) one of largest			d) one of the largest
9. The system will not fail to perform ___ the requirements are satisfied.
a) lest			b) provided		c) if 				d) in case
10. The inspector said the safety precautions _____ inadequate. 
a) will be		b) are			c) have been			d) were
11. Having been presented with the facts, _________
a) the problem was discussed by the members of the committee. 		d) they proved to be  very interesting.
b) the members of the committee discussed the problem.			c)  they were proved to be very interesting.
12. They stated that the book … especially for the computer professional.
a) will design		b)had designed		c) was designed			d)would design
13. This computer is so simple that it ________ be operated by anyone.
a) can 			b) is able to		c) need				d) ought
14. The data __________ outweighed those that we had had before.
a) obtained		b) obtaining		c) to obtain			d) to be obtained
15. __________ not only this method but also possible alternatives.
a) Don’t consider		b) To consider		c) Considering			d) Let’s consider
16. There is a second approach to the problem that _______ a slight time saving.
a) don’t provide		b) provides		c) providing			d) provide
17. California relies heavily on income from fruit crops, and
a) so does Florida.	b) Florida too.		c) Florida is as well.		d) neither does Florida.
18. We are interested in _________ us about the results.
a) that she inform	b) when she will inform	c) her informing 			d) her to has informed
19. Before we appointed the new Chairman, our share price ... very low.
a) would be		b)were being		c) have been			d) had been
20. . . . about that event, he replied nothing.
a) Asking 		b) Having asked		c) Was asked			d) Being asked 
21. The small amount of water and food in this area cannot sustain the large population.
a) guarantee		b) survive		c) support			d) decrease
22. These modern computers have only some of human traits.
a) beings		d) organs		c) characteristics			d) qualifications
23. He performed experiments to confirm what they had proposed.
a) verify			b) disprove		c) contradict			d) survive
24. The project was postponed due to negative economic conditions.
a) contemporary		b) appropriate		c) adequate			d) unfavourable
25.The subject was controversial for a long time, and there will probably never be complete agreement.
a) disputed		b) interesting		c) discussed			d) topical
26. The concept is difficult to grasp from a definition alone, but a description makes it easier to visualize.
a) depict			b) understand		c) explain			d) verify
27.The goal of all scientific investigation is to predict the future.
a) cause			b) result			c) use				d) aim
28.We can give other examples of scientific achievements that were a result of joint efforts.
a) competition		b) conversation		c)cooperation			d) contradiction
29.Mathematics gives precision to science.
a) accuracy		b) significance		c) challenge			d) prominence
30. In the 20th century, Britain developed gradually from an industrial economy into a service economy.
a) progressed		b) modified		c) upgraded			d) evolved

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
In deciding which foreign language to study after weighing linguistic aspects, you must also consider business aspects. Partially your decision will depend on whether you are the buyer or the seller of a product. If you want to sell a product, it is in your interest to learn the language of the customer. However, other economic considerations will influence your decision also. For example, if you are the only manufacturer of a product that is in high demand, you may be able to sell and be very successful without speaking the language of your customer, at least in the short run. However, if you look ahead, you may find that even under these favourable circumstances it is in your long-term interest to adapt to the customer.
	After the World War II US business dominated the international markets. The production facilities of most other industrial countries lay in ruins. As a result, products made in the US were in high demand. Unfortunately, The Americans did not look at the long range. They acted as if the situation would continue forever and their products would remain in demand because they were somehow superior. The United States paid dearly for the unwillingness to adapt and for the shortsightedness and arrogance of its businesspeople. For example, Caterpillar Tractor did not consider as a serious competitor Komatsu until after Komatsu had established itself in international markets.
If businesses in the United States want to expand their international markets, their people must learn the languages of the potential markets. The Japanese and the Koreans are learning English, yet very few English are studying Korean or Japanese. The typical argument is that these languages are just too difficult to master. In reality, Japanese is not impossible to learn if people are determined. The attitude that Japanese is mysterious and alien and not worth the effort helps explain why comparatively few people study Japanese.

1. When choosing what language to study you should consider the role you play in the business process.
2. The author thinks you can sell your products safely in a foreign country without knowing the language of your customer.
3. In the post-war years American firms prevailed in the world markets.
4. The American companies were successful because their products were of better quality.
5. There are more Japanese and Koreans who want to learn English than Americans who’d like to learn Japanese.

Укладач: проф. Горошко О.І. ____________________________

Завідувач кафедри: проф.Горошко О.І.________________


МІНІСТЕРСТВО ОСВІТИ І НАУКИ УКРАЇНИ
Національний технічний університет 
«Харківський політехнічний інститут»


КОМПЛЕКСНА КОНТРОЛЬНА РОБОТА

Напрям підготовки	054 Соціологія
Дисципліна			"Іноземна мова за фахом"  

Варіант 9
1. Оберіть вірний варіант (a, b, c або d)

1. The danger of radiation for human health makes us … different means of protection.
a) develop		b) to have developed	c) to develop	d) to be developed
2. For the first time since the industrial revolution, … than 10% of American workers are now employed in manufacturing.
a) least			b) more 			c) as many as 	d) farther
3. It will take months for the new proof … thoroughly.
a) being checked		b) to be checked 		c) checked   d) to check
4. The conference was devoted to the subject they ... for two years.
a) had been investigating		b) investigated 		c) did investigate		d) investigate
5. Technological improvements are needed … wind, solar and hydrogen can be more viable parts of the energy equation.
a) lest		b) because of	c) so that	d) unless
6. The discussion . . . very interesting. It is a pity I couldn’t stay.
a) was 	b) will be 	c) would be 	d) were
7. I have to do some extra work now because one of my colleagues … a holiday.
a) has 		b) has had 	c) is having 	d) would have
8. If it … a country, California would be one with more people than Canada and an economy the size of China's.
a) would be 	b) has been 	c) will be 	d) were
9. So far no attempts …to improve the situation. 
a) must to be made	b) will make	 c) must be making	d) must have been made
10. The result of this study is intriguing, and surely worth … in a larger piece of research.
a) to follow up 		b) to be followed up 	c) following up	d) followed up
11. It is important that this project should be adequately financed. Then… .
a) a number of other difficulties will appear 	c) it will succeed
b) there is little hope that it will succeed 		d) it will be too late
12.… this theory may seem it does have some weak points.
	a) No matter how convincing	 b)In spite of convincing 	c) Provided it is convincing d) In order to convince
13. She hasn't begun working on her Ph.D. … working on her master's.
a) still because she is yet	b) yet as a result she is still	c) still while she is already	d) yet because she is still
14. The more she worked, ….
a) the less she achieved	b) she achieved not enough	c) she did not achieve enough	d) she was achieving less
15. He has received several scholarships ….
a) not only because his artistic but his academic ability 	c) because of his academic and artistic ability
b) for both his academic ability as well as his artistic		d) as resulting of his ability in the art and the academy
16. In software construction there are some techniques that permit us to recognize ….
a) if not correct a given program is	  b) if a given program is correct   c) or is a given program correct  d) isn't a given program correct
17. The students liked that professor's course because ….
a) there was few if any homework 			c) there was little or no homework
b) not a lot of homework was			d) of there wasn't a great amount of homework
18. There has already been mentioned the fact that scientific discoveries … .
a) which cannot be wholly dealt with on a national scale 	c) proving scientists’ new hypotheses
b) makes the problem far more complicated than it seems 	d) are greatly assisted by the developments in research techniques
19. Not only has demand been high, but … is coming from places that are hard to reach.
a) also the oil we have been finding	b) unless we found oil	c) finding the oil	d) we have been finding oil
20. The chairman requested that … ..
a) the members studied more carefully the problem 	c) with more carefulness the problem could be studied
b) the problem would more carefully be studied	d) the members studied  the problem more carefully
21. We also have a series of public lectures given by guest speakers.
a) number	b) matter	c) means	d) sort
22. It is now common corporate policy for a company to have a mission statement explaining the aims of the business.
a) strategic	b) domestic	c) international 	d) organizational
23. I want you to illustrate your point by providing some supporting examples.
a) receiving	b) removing	c) obtaining	d) supplying
24. More and more students decide to study for a Master’s degree to enhance their knowledge. 
a) employ	b) improve	c) evaluate	d) apply
25. You are obliged to present an electronic version of your report.
a) informed	b) known	c) required	d) proposed
26. The amount of money owed by some countries is so enormous that it will probably never be repaid.
a) insufficient	b) huge 		c) tiny		d) average
27. The experiments were conducted simultaneously in London and Rome.
a) at the same time	 b) step by  step		c) in the same place	d) from time to time
28. When testing a hypothesis, every effort is made to eliminate subjective or biased ideas.
a) consider	b) modify	c) avoid		d) reduce
29. People should be aware of the ecological threats caused by this kind of production.
a) ignorant	b) careful	c) conscious	d) opposite
30. Scientists are still disputing about the origin of the Universe.
a) experimenting		b) arguing	 c) thinking 	d) explaining

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Sometimes different cultures use identical words that have rather different meanings. The results can be humorous, annoying, or costly depending on the circumstances. Let us look at several examples.
	An American university and its French partner discussed the possibilities of exchanges for students, professors, and administrators. Both sides agreed that it would be a good idea. The French negotiator spoke pretty good English; the American spoke good French. In the discussion they used both French and English. In both languages they used the identical word administration when they talked about exchanges between the two institutions. The surprise came later. For the American, administration in the university context meant department chair, dean, provost. For the French, administration meant upper-level clerical staff. What the Americans considered to be an administrator, the French considered faculty.
	The word manager is used worldwide, but it has different levels of importance and meaning in different cultures. The same is true of the title director. Many Japanese, for example, have the title director on their business card. In the American context, a director is a person of some importance and power. In Japan, the title may not carry the same level of authority. It may some time to determine what titles mean and where the person stands in the hierarchy. The term director could be a loan word from English to translate the position for use on a business card; the word is the same, but the meaning may be slightly different. The term could also reflect cross-cultural differences in organizational structure. The word director may be the closest translation of a job title that does not exist in the US corporate structure. An understanding of the specific title would require a more detailed explanation of the job and it’s fit in the organizational structure.

1. Similar words in two languages may mean different things.
2. ‘Administration’ means department management in the French University.
3. The word ‘manager’ is easily understandable throughout the world.
4. The Japanese use the term ‘director’ to indicate a person who has the highest authority in a company’s hierarchy.
5. Only a full description of one’s job functions will help to understand the meaning of the title.
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Варіант 10
1. Оберіть вірний варіант (a, b, c або d)

1. … he got the best grade on the quiz surprised everyone.
a) the fact what	b) the fact that 	c) the fact if	d)  the fact when
2.That experiment demonstrates that people have trouble …more than seven digits in sequence.
a) recalled	b) being recalled	c	c) recalling	d) having recalled
3.They stated that the book … especially for the computer professional.
a) will design	b) was designed		c)had designed	d)would design
4.That company’s electric cars … to be virtually trouble-free.
a) report		b) are reporting 		c)reports	d)are reported
5.It is essential that she … us beforehand.
a) is calling	b) shall call	c)should call	d)was to call
6. Henry Ford’s introduction of the assembly line vastly reduced the time it took …
a) to make a car		b) making a car 		c)for making car		d)a car to make
7. In terms of population, Bangkok, Thailand , is … than Barcelona, Spain.
a) as large	b) larger		c)the largest	d) more large
8.France, where this process …, took an early lead in aluminum production.
a) was developed 	b) will develop	c) has developed		d)were to develop
9.Until 1845, scientists failed to discover a process which … separate aluminum from its various alloys.
a) must		b) could		c)will		d)ought
10.Mr Williamson  … the firm soon whether or not he voluntarily turns in his resignation.
a) has left	b) are leaving	 c)have left	d)will be leaving
11.The project faced a whole series of difficulties. Yet, despite all of them… .
a) the organizers decided to abandon their plan.	c) it was a complete failure.
b) it proved to be a great success.			d) the difficulties were impossible to overcome. 
12.It is important that this project be adequately capitalized and that strict accounting procedures be applied from the beginning. Otherwise , … .
a) its success will be assured		c) there are a number of further measures which should be taken
b) there is little hope that it will succeed		d) nothing will go wrong
13.Scientists know that the huge Hola crater in Arizona was made by a meteorite, but do not know exactly … .
a) when did the meteorite hit the earth	c) when the meteorite the earth hit	
b) when the meteorite hit the earth		d) when did the earth hit the meteorite
14. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated 	d) Having translated 
15.The number of Internet buyers in Latin America is growing fast, … .
a) while Europeans do not like electronic commerce		c) though one can have a computer now
b) yet, you can always find products on the Internet		d) however, there are many advantages to buying on the Internet
16. The road repairs . . . on the motorway had seriously delayed the traffic.
a) will carry out	b) having carried out	c) being carried out	d) to carry out
17…, ozone levels in the ionosphere have dropped recently.
a) However the reason	b) They are the reason	c) What is the reason	d) Whatever the reason
18 Our firm seems  . . . a large number of outdated computers.
a) to have 	b) have		c) has		d) having  

19. He didn’t know how long the staff training course . . . 
a) will last	b) lasts		c) can last	d) would last
20.While dozens of popular authors claimed to be experts on the subject, … .
a) there were much other such authors		c) none of them had studied it in a systematic way
b) some of the authors are not really so popular	d) there being no experts on other subjects
21. The company has experienced a number of significant changes in the last few years.
a) influenced	b) undergone		c) required	d) implemented
22. You should speak more loudly and more slowly when you want to emphasize an important point.
a) introduce 	b) stress		c) discover	d) report
23. The North Americans consume more energy and resources than any other nation.
a) use 		b) generate	c)make		d) apply
24. One of the most important skills to learn is how to utilize your time effectively.
a) take notice of		b) pay attention to		c) take care of		d) make use of
25. The outcome of the experiment was a complete surprise to everyone.
a) beginning	b) start		c) result			d) launch
26. He is a pleasant colleague, and very proficient at his job.
a) skilled	b) profitable		c) popular	d) active
27. They declared that they had been the first to discover those facts.
a) proposed	b) introduced	c) stated		d) demonstrated
28. The theory proved to be correct and was a major breakthrough in the history of science.
a) true		b) valuable	c) unique		d) false
29. Communication between researchers is dependent on precise definition of concepts and ideas.
a) faulty		b) broad		c) accurate	d) standard
30. The results obtained signify that we still know very little about these phenomena.
a) convince	b) disprove	c) guarantee		d) indicate

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Culture and language are intertwined and are shaping each other. It is impossible to separate the two. Language is not neutral codes and grammatical rules. Each time we select words, form sentences, and send a message, either oral or written, we also make cultural choices. We all agree that language helps in communicating with people from different backgrounds. However, we may be less aware that cultural literacy is necessary in order to understand the language being used. If we select language without cultural implications, we may at best not communicate well and at worst send the wrong message.
	In our own environment we are aware of the implications of the choices. For example, if an American says, “How are you?” other Americans register the phrase as Hello, rather than the literal meaning. A foreigner, who knows some English but is not familiar with the culture and usage of English, may attribute a very different meaning to the phrase and interpret it more literally. He or she, for example, may 
· consider the phrase too personal and think that it is none of your business how he is;
· think that you literally mean what you say and proceed to answer the question;
· consider you insincere because it becomes obvious that you are not really interested in the answer.
The point is that words in themselves do not carry the meaning. The meaning comes out of context. Germans who have lived in the US for many years will take on many American behavioral patterns. They may be more outgoing and enthusiastic, less formal, more optimistic. When they go back to Germany, it will be more difficult for them to establish connections and feel comfortable with Germans, who are usually more reserved.

1. Knowing language is the most important thing when dealing with people from other cultures.
2. When people want to make an inquiry about your health in English, they say “How are you?”
3. The meaning of words often depends on context.
4. It is very difficult for people living in a foreign country to change their behaviour according to local standards.
5. Relations between people in Germany are usually rather official.
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Варіант 11
1. Оберіть вірний варіант (a, b, c або d)

1. . . . more attention is now being paid to environmental issues.
a) Great		b) Very 		c) Much		d) Too
2. The device is very delicate and has to . . .  with great care.
a) be handled 	b) be handling		c) handle	d) being handled
3. These methods of purifying industrial wastes . . . much attention to recently.
a) was given 		b) have been given		 c) were giving		d) had to been given
4. He . . . left a message for you, here it is.
a) was 			b) is		 c) will			 d) has
5. When you wake up tomorrow, I . . . over the Atlantic ocean.
a) would fly 		b) will be flying 		c) must fly		d) can fly
6. The system is dangerous, . . . must use it.
a) everything	b) anybody	c) no one	d) somebody
7. She plans . . . to study the alternatives and to implement them soon.
a) also		b) both		c) either		d) not only
8. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated		d) Having translated
9. The trainee . . . writing the report before the director came.
a) finished 	b) was finishing		c) should finish		d) had finished
10. They like to work in the central public library and so . . . I.
a) do		b) like			c) am		d) work
11. If she … a skilled programmer, they would offer her a good position in a big company.
a) been			b) being 		 c) were			d) should
12. He didn’t know if there . . . a special mechanism used in the process.
a) have existed		b)were existing 		c) existed		d) exist
13. If I had remembered his number, I would . . . him.
a) telephone 	b) be telephoning		c) telephoning		d) have telephoned
14. The European computer companies insisted that a better relationship with the public authorities . . . be built in Europe.
a) should to	b) will		c) had to 	d) are to
15. They won’t change their decision until they . . . more information.
a) got 		b) get		c) will get	d) would get
16. They discussed their points after they . . . the contract.
a) have signed 		b) signing 		c) having signed		d) had signed
.17.  . . at from this point the problem doesn’t seem too difficult. 
a) Looking 	b) Having looked		c) Will be looked		d) Being looked
18. He was sorry because he. . . the device before.
a) not having tested 	b)does not test		c) hadn’t tested 		d) isn’t testing
19. The gravitational forces do not let the planets ... the solar system.
a) leave		b) leaving	c) to be left		d) to leave.
20. Our firm seems  . . . a large number of old computers.
a) to have		b) have			c) has 		d) having
21. University regulations state that students must pass 18 modules to graduate.
a) promote	b) plan			c) report		d) declare
22. Most economists forecast that China will become a leading world economy in the 21st century.
a) consult	b) discuss		c) predict	d) offer
23. These countries are forced to rely on aid from richer nations in order to feed their population.
a) give up 	b) look after	c) go on		d) depend on
24. The new computer system created a lot of interest among potential users.
a) generated	b) maintained		c) lost		d) showed
25 Employees are keen to recruit people who have at least a basic ability in computing.
a) research 	b) qualification		c)contribution	d) application
26. Preliminary results suggest that we are going in the right direction.
a) experimental 		b) initial		c) encouraging		d) ultimate
27. Don’t assume something is true until facts confirm it.
a) accept	b) deny 		c) describe	d) predict
28. The University must make sure that your English is sufficient.
a) excellent 	b) moderate		c) huge		d) adequate
29. When the government increased the tax on petrol, there was a significant rise in transport costs.
a) resultant	b) considerable		c) continuous	d) simultaneous
30. Until the last century, this concept was regarded as a ridiculous idea.
a) suggested		b) preferred		c) considered		d) applied

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
The amount of socializing you do prior to and during a negotiation will depend both on your own and the opposing team’s negotiating styles and where the negotiation is being held. In Japan, for example, the negotiation process is long and relationship-building plays an important part. The same is true of the Middle East. In the USA things move faster and their negotiating style tends to be more informal and adversarial. In Germany there may be little time for small talk.
	Mixing with colleagues out of work-hours is an integral part of business in America where many companies are run like sports teams with the boss as both captain and coach. Elsewhere, there may be a strong dividing line between work and home.
Business people from Arab and Latin countries tend to have a more flexible, ‘polychromic’ attitude to time than their ‘monochromic’ North American and North European counterparts, for whom time really is money. Their ‘high-context’ culture also places greater emphasis on personal relationships than ‘low-context’ Northerners do. 
	A good sense of humour is an admired quality in many cultures – notably British, American and most Latin countries – though the type of humour may vary from wordplay to sharp sarcasm to innuendo and even the surreal. In some cultures, however, particularly Germanic ones – humour is not usually considered appropriate in a business context. 
	 Different people have different ideas about where is an appropriate place to do business. For some, talking about golf all morning at the office and business all afternoon on the golf course is quite normal. Others do more business in liars than boardrooms. But these days people are more culturally aware and don’t usually expect foreigners to observe their own business customs. 

1. Socializing plays a significant role when holding business talks in the Middle East.
2. Americans tend not to socialize much with their colleagues or bosses at their leisure time.
3. You should try not to seem too busy for Italians and not mess up Americans’ tight schedules.
4. When doing business with the British or Americans you are strongly advised to leave the jokes for the bar after the meeting.
5. A foreigner guest’s polite refusal to go to a Finnish sauna or a Spanish bullfight will not sound offensive to the host.
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Варіант 12
1. Оберіть вірний варіант (a, b, c або d)

1. This new machine is twice . . . effective as the old one.
a) such		b) more 		c) much 		d) as
2. It should . . . that difficulties can arise at any stage.
a) have remember 	b) be remembering		c) remember		d) be remembered
3. In the last few years, great progress in recycling techniques . . . by this company. 
a) will be made 		b) was being made 		c) has been made 	d) have been  made
4. The discussion . . . very interesting. It is a pity I couldn’t stay.
a) was 		b) have been 		c) will be		d) has to be
5. We . . . the results of the voting by the end of the week.
a) have been computing		b) will have computed		c) compute		d) shall be computing
6. Was . . . present from the European management teams?
a) someone 	b) none			c) anyone 		d) every
7. The problem is interesting enough ... much attention.
	a)will attract 	b)being attracted		c)for attract 		d)to attract
8. We couldn’t use the photocopier, it . . . 
a) was repairing		b)were repaired		c) was being repaired		d) has been repaired
9. Neither the documents . . . the letters are ready yet.
a) either 		b) nor			c) and 		d) or
10. I had already worked in Research and Development before I . . . my present company.
a) joined			b) would join 		c) join 		d) have joined
11. If the designers … looked for new ideas, the well-known companies would have already manufactured a modern portable computer.
a) unless		b) should		c) had 		d) could
12. He didn’t know how long the staff training course . . . 
a) will last	b) lasts		c) can last	d) would last
13. Nowadays young people ask . . . the democratic system is suitable to modern conditions.
a) what 			b) if 		c) about 		d) that
14. The results would improve if we . . . more time on planning.
a) shall spend 		b) spent			c) have been spending 		d) spend
15. It is necessary that these techniques . . . applied in parallel. 
a) must be	b) has been 		c) has to be 		d)  should have been
16. The road repairs . . . on the motorway stopped the traffic.
a) was carried out		 c) being carried out 		b) having carried out		d) to carry out
17. When . . . about that event, he replied nothing.
a) asking 		b) having asked 		c)was asked		d)  being asked
18. He didn’t want to . . . any modifications to the original design.
a) making		b) make 			c) be made		d)  being made
19. Such examples are too numerous . . . as exception.
a) for being treat 		b) to be treated 		 c) to treatment		d) for been treated
20. The region is developing successfully, with rates of investment . . . significantly.
a) growing 	b) will grow		 c) were growing		d) be growing
21.  This concept was not recognized until the 16th century.
a) theory	b) principle		c) fact		d) method
22.It was obvious that there was a fact linking these events.
a)  unexpected 	b)  clear		c) indistinct	d) wrong
23.The lecturer concluded with a brief review of the main points.
a)  started 	b)  continued		c) finished	d) added
24.They have decided to start an investigation.
a)  finance	b)  support		c) assist		d) initiate
25.We understand that they will be able to interpret the results correctly.
a)  stress 	b)  support 		c) confirm		d) realize
26.It is essential that you check your research results to make sure they are correct.
a)  fundamental		b)  secondary		c) main		d) ordinary
27.In some instances, there was no improvement, but generally the changes were a success.
a)  causes		b)  processes		c) tests		d) cases
28.Wages and inflation are closely linked, in that as one rises or falls so does the other.
a)  disconnected 		b)  interrelated 		c) affected		d) observed
29.The main cause of their refusal was lack of funds.
a) immediate 		b) reasonable 		c) basic		d) specific
30.The results of the tests verified that our theory was correct.
a)  recorded		b)  explained 		 c) discovered		d) proved

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
If you have decided to study a foreign language, the next question is which one? Given the number of languages on the globe, this decision is not easy and will be influenced by many factors. Experts don’t agree on exactly how many languages are spoken in the world; the figure is somewhere between 3,000 and 6,000. Estimates are that within the next 100 years half of these languages will disappear and with them some of the diversity of cultures. Since no one language can express all forms of human thought and ideas, this reduction would make all humanity poorer. One problem is a definition of what constitutes a language. An additional factor is the distinction between language and dialect.
	At what point does a person speak a different language from ours, and at what point does a person speak a dialect, or variation of our language? To a German from the north who speaks Plattdeutsch, the dialect called Swabian or Bavarian from the South are in many ways unintelligible and, therefore foreign languages. Officially, however, all three are dialects of German. The Japanese, even though they like to tell us they are a homogeneous culture, have dialects.
	India is the prime example of linguistic diversity with about 600 languages, of which 14 major languages are spoken by about 90 percent of the population. This diversity causes problems both domestically and internationally. The 14 languages belong to two distinct language families. Languages in the north are Indo-European; in the south, Dravidian. In order to facilitate communication in the country, India recognizes three official languages, Hindi, English, and the local language. Of course, the number of people who actually speak English fluently is small and restricted to the educated upper middle class. Among that group, many people speak English even at home. They use the local language for communication with servants.

1. The number of languages has grown from 3,000 to 6,000 over the past two centuries.
2. There are forecasts that 50% of languages won’t exist in the next century.
3. There are clear features that can help us distinguish between a language and a dialect.
4. Although people in India speak 600 languages, they don’t have problems understanding one another.
5. Not all Indians can speak English, though it’s one of the three official languages.
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Варіант 13
1. Оберіть вірний варіант (a, b, c або d)

1. There is no doubt that radio and TV are among the … miracles of modern science.
a) most great	b)more greater 			c) greatest		d) most greatest
2. When ... to X - rays, this substance emits light.
	a) exposing		b) to have been exposed		c) exposed		d) to be exposed.
3. We had a hope that these research . . . the gap in our understanding of the mechanism.
	a) will fill			b) were filled			c) had been filled		d) would fill.
4. The gravitational forces do not let the planets ... the solar system.
	a) leave;	b) leaving;	c) to be left;		d) to leave.
5. Have you ever been to England? - Yes, I ... there last year.
a) was been 		b)was				c)had been		d)have been
6. The seminar course in theoretical physics that... in Kharkiv is scheduled for May - June.
a) will been held		b) would be held			c) will be held		d) will has been held.
7. Recently a considerable number of works ... on various problems of elementary particles physics.
	a) has appeared		b) would appeared		c) had appeared		d) will be appear.
8. If I were not so busy with my thesis, I... a trip to Britain.
	a) would take		b) took				c) might taken		d) have been taken.
9. Some of our older conceptions . . . , since they have come into conflict with new experimental findings.
a) are revising		b) have revised			c) revised		d) are revised.
10. He suggested ... a program committee for this symposium.
	a) to set up		b) having set up			c) being setting up	d) to be set up.
11.	It is interesting to know ...
a) do they share our opinion	b) if they share our opinion	c)whether do they share our opinion	d)if share they our opinion
12.	... man's influence is changing the biosphere and it is passing into a new state.
a) In spite of    b) Progress made both in science and technology accounts for     c) It is mainly due to    d)With the present - day scientific progress
13.	…., ultraviolet light would kill most living organisms.
a) If it reached the Earth 		b) 	To reach the Earth	c)It can reach the Earth 	d)For the Earth to reach
14.	. . . , the more reliable are the results.
a) In a better experimental technique			c)The better the experimental technique is
b) For the experimental technique to be better		d)It is a better experimental technique
15.	I am going to complete one series of experiments by next year...
a) the more effort it takes				c)why should it take so much effort
b) no matter how much effort it will take		d)that it didn't take much effort
16.	... a part of the ancient art was still preserved up to the Renaissance.
a) The scientists of the Middle Ages are known		It was in the Middle Ages that scientists
b) However, the scientists of the Middle Ages 		d) Thanks to the scientists of the Middle Ages
17.	The interaction model. . . does not apply to more recent data.
a) have been discussed here		b) which has been discussed here
b) have to be discussed here		d) it is being discussed at the moment
18.	... that I have to skip over the introductory review.
a) Having so little time left for my paper		c) For me to have so little time left for my paper
b) The less time I have for my paper			d) I have so little time left for my paper
19.	The zero . . . was known in Europe by the year 1000 A. D.
a) together with the rest of our «Arabic» numbers		c) had been among the rest of our «Arabic»   numbers
b) or  the rest of our «Arabic» numbers			d) is    among the rest of our «Arabic»   numbers
20. ... an atom has a nucleus in its centre, which is positively charged, was discussed by Ernest Rutherford in 1911.
a) Knowing that		b) When he discovered		c) The fact that		d) Provided
21.	Transistors are used for direct transformation of heat energy into electrical energy with the help of thermal elements.
	a) through the use of	b) without			c) instead of		d) apart from.
22.	This consideration is essential for taking effective measures.
	a) similar	b) sufficient	c) important		d) true.
23.	The results obtained so far appear to confirm the idea that Mars is really a cold lifeless desert.
	a) contradict	b) put forward;	c) support		d) put to question.
24.	This direction in research is better financed compared to some other studies.
	a) in terms of		b) than				c) except for		d) due to.
25.	The problems of environmental protection have gone outside national boundaries.
	a) inside	b) parallel to	c) out of		d) towards.
26.	Vernadsky interpreted the biosphere as the global envelope produced on the Earth with the development of life.
	a) protected	b) supported	c) regarded		d) provided.
27.	For want of a better analogy we shall turn to the one given in the earlier paper.
	a) In comparison with	b) In terms of			c) In accordance with	d) Because of the absence of
28.	The studies are under way at many laboratories.
a) planned		b) going on			c) put off		d) conducted in the underground.
29.	Scientific information is growing at a very high rate.
	a) accuracy	b) speed		c) wave		d) per cent.
30. Quantum fields are modem versions of the classical fields introduced in the 19th century to demonstrate such phenomena as electric and magnetic forces
	a) change	b) reduce	c) increase		d) explain.

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
We have been trained throughout our business careers to suppress our individual voice and to sound like a "professional" - that is, to sound like everyone else. If you need to hear how the professional voice sounds, dig out a memo you wrote four years ago and compare it with how you’d write an e-mail about it now. A professional memo obeys rules such as one page is best, no jokes, spell-check it carefully and send it to as few people as possible.
Now we write e-mails. They’re short, they’re funny; they sound like us, and we cc the CEO whenever we feel like it. E-mail is a more immediate medium than paper. My expectation of the response time to many messages I send is today, not tomorrow or a week from now. This urgency means I’m more likely to write quickly and conversationally when I respond to a message. A lot of the spontaneity in e-mail messages comes from writers breaking through their natural caution and reserve, rushing the writing process, giving themselves permission to be blunt, honest and sincere in response to a query.
 That’s why most of us don’t want to use a word processor to write our e-mails. We want to be free of the expectation that we’ve spell-checked it or even re-read it before firing it off. We certainly don’t want to waste our time messing about with fonts and margins.

1. The rules of writing memos are stricter than the ones about e-mails.
2. People prefer writing e-mails to memos.
3. You’ll need much time for getting the response to an e-mail.
4. The professional memo should be long.
5. The author of the text waits for the answer to his e-mail for a week.
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Варіант 14
1. Оберіть вірний варіант (a, b, c або d)

1. I am now busy ... an exhibition at the institute.
a) to arrange		b) have been arranged		c) arranging		d) to be arranging
2. I ... a Ph.D. degree at this institute in 1984. 
a) was received 		b) received		c) have been receiving	d) had received
3 .The problem is interesting enough ... much attention.
a) will attract			b) for attract		c) being attracted		 d) to attract
4 .It was shown thirty years later that G. Mendel's conclusions ... correct.
a) had been			b) was			c) are			d) have been
5.	For a detailed analysis I took the data ... by my research group.
a) obtained			b) obtaining		c) was obtained		d) having being obtained
6. Active research on genetic problems ... for about seventy years now.
a) was carried on		b) has been carried on		c) is being carried on		d) is carried on
7.	When I ... my present work, I will start writing my doctoral thesis.
a) will be completed		b) shall complete		c) complete 		d) have been completing
8. .I ... through a few English papers last week but I couldn't find a spare minute.
a) should look			b) had to look		c) could 		d) have been looking
9. He usually ... his work day with checking the apparatus.
a) starts		b) starting			c) has started		d) is starting
10. I wonder ... he will come in time.
a) weather		b) what				c) whether 		d) that
11.	The gravitational field of the Moon has influence on the life of sea animals ....
a) had, in fact, never been observed     b) observations were made     c) is likely to be observed	d) as it proved by recent observations
12.	…Prof. N emphasized the importance of direct contacts among scientists.
a) Opened the conference		b) When opening the conference 	c) The longer the speech	d) It was
13.	Do you know ... ?
a) the atomic nucleus was discovered when			c) when was the atomic nucleus discovered
b) when the atomic nucleus was discovered			d) when was discovered the atomic nucleus
14.	... one or several electrons must leave the atom.
a) To form a positive ion 	b) The formation of a positive ion 	    c) It is a positive ion that is formed   d)Being a positive ion to form
15.	Many sciences today are so closely linked ....
a) however difficult to draw a line between them		c) that it's difficult to draw a sharp line between them
b) drawing a sharp line between them			d) leads to drawing a sharp line between them
16.	The interchange of information in future will be better than it is now ....
a) to take any form	b) any form to be taken 		c) take any form	d)whatever form it may take
17.	It is useful to learn ... is totally dependent on the environment.
a) however changing animal behaviour			c) if the change we see in animal behaviour
b) as a result of our observation				d) the more we observe animal behaviour
18.	... but they also make long-range predictions.
a) Although scientists explain well-known facts		c) Scientists explain not only well-known facts
b) Can't scientists only explain well-known facts		d) Scientists explaining well-known facts
19.	... that attracted most attention.
a) It was Brown's report	b) It being Brown's report	c) Having been Brown's report 	d) This will being Brown's report
20.	The more accurate the calculations ....
a) so the results 	b) are reliable results 		c) the more reliable are the results	d) for the results to be reliable
21.	We cannot view this problem on the basis of modern concepts.
a) from the point of view of		b) in spite of		c) because of		d) along with
22.	The great advantage of the so-called graphic computers is in solving design problems.
a) weakness			b) illustration		c) strength		d) discomfort
23.	It is usually more economical to buy large quantities of a product than small quantities.
a) cheaper			b) more common		c) up-to-date		d) less political
24.	Human labor has the capacity to make use of the equipment and techniques available.
a) out-dated			b) reliable		c) accessible		d) new
25.	People seem to realize the potential dangers of some scientific discoveries.
a) want				b) appear		c) can			d) try
26.	Properties of any region of space depend considerably on the presence and form of matter nearby.
a) slightly			b) generally		c) in fact		d) greatly
27. Various ideas have been proposed to examine these phenomena.
a) record	b) describe		c) investigate		d) explain
28.	Both reports predict that the temperature change will be greater in the polar regions than near the equator.
a) object			b) forecast		c) undergo		d) compare
29.	Inequality is low in unchanging, "traditional" society, but rises as economic growth accelerates.
a) speeds up			b) dates back		c) arranges		d) begins
30.	Statistics may be defined as the branch of mathematics which is concerned with the use of collected numbers representing facts or measurements.
a) cooperates with		b) is opposed to		c) increases		d) deals with


2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
PHONE RAGE

What drives you to lose your temper on the telephone? Being kept waiting, being connected to voice mail or being passed on to someone else are all common flashpoints. But what infuriates people most of all is talking to someone who sounds inattentive, unconcerned or insincere, according to a survey published recently.
The study by Reed Employment Services, a recruitment company, found that nearly two-thirds of people feel that ‘phone rage’ (people losing their temper on the telephone) has become more common over the past five years. The reasons for this are threefold, according to Reed. People are much more likely to express anger over the phone, rather than in writing or face-to-face. Moreover, telephone usage has been rising steeply over recent years. Increasing numbers of transactions take place entirely by phone, from arranging insurance to paying bills.
In addition, people’s expectations have risen. Nearly three-quarters of respondents to the Reed survey said they are more confident that their problems can be solved over the telephone than they were five years ago.
Companies are taking steps to improve their staff’s telephone answering techniques. The survey found that 70 per cent of organizations require their staff to answer the telephone with a formal company greeting. But a third of organizations do not give any training, or they train only their receptionists. That may not be enough, the report says. As companies move towards ‘remote working’, the need for the right tone of voice extends to every level of the organization.

1. Today the number of people who lose their temper on the phone is increasing.
2. People are more willing to express anger in writing or face-to-face.
3. People arrange insurance and pay bills by phone.
4. You couldn’t solve a lot of problems over the phone five years ago.
5. The report says companies should train only their receptionists.
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Варіант 15
1. Оберіть вірний варіант (a, b, c або d)

1.	We hadn't heard from him for a long time. He ... wrote nor telephoned.
a) either		b) nor				c) neither		d) didn't
2.	Who ... in the house?
a) do live		b) does live			c) lives			d) live
3.	Have you ever been to England? - Yes, I ... there last year.
a) was been		b) was				c) had been		d) have been
4.	When ... to ionizing radiation, living cells cannot perform their normal functions.
	a) exposed		b) exposing				c) have exposed		d) expose
5. I can't attend his today's lecture because I ... to work.
a) must			b) had				c) can			d) have 
6.	I think, very soon a cure for AIDS ....
a) will find		b) will have found		c) will be found		d) will have being finding
7.	Would you mind ... me a copy of your conference paper?
a) having sent		b) sending			c) to send		d) sent
8.	Your reception room is bigger than ....
a) our			b) ours				c) we			d) us
9.	We heard him ... this story yesterday.
a) to tell			b) told				c) tell			d) has told
10.	What would you write about if you ... a popular writer?
a) were			b) would			c) had been		d) are
11. These facts …. since last century.
a) have been observed	b) were observed			c) are observed		d) are being observed
12.	Very soon this work ... us many discoveries of great importance.
a) has brought	b) will be brought		c) brings			d) will bring
13.	For hundreds of years people ... of cosmic flights.
a) are dreaming	b) have been dreaming	c) have been dreamed		d) are being dreamed
14.	The head of the laboratory ... to check everything himself.
a) are	b) be able			c) had			d) must
15.	There is no doubt that radio and TV are among the … miracles of modern science.
a) most great	b) more greater		c) greatest		d) most greatest
16    The question ... at next Thursday's meeting concerns all of the laboratory staff.
a) to be discussing	b) discussed		c) being discussed	d) to be discussed
17.	I watched them ... the equipment.
a) installed	b) installing			c) were installing		d) had installed
18.	Nobody expected them ... a discovery.
a) to make	b) would make		c) made			d) make
19.	The value of his research ... not be underestimated.
a) are	b) must			c) has			d) is
20.	He must ... his attempts to obtain better results several years ago.
a) give up	b) have given up		c) gave up		d) has given up
21. I do believe that the problem can be split into three levels.
a) interpreted	b) divided			c) solved		d) looked at
22. Governments should set limits for engine sizes and production.
a) approach		     b) introduce			c) balance		d) recognize
23. The book summarizes recent developments in this field.
	a) includes			b) ends with		c) is full of		d) sums up
24. Science provides the means of profiting from knowledge of the laws of nature.
	a) keeping up-to-date with		b) encouraging		c) taking advantage of	d) improving
25. Technology is supplying science with more and more sophisticated instruments.
	a) providing			b) demanding		c) joining		d) competing
26. That factory is producing more and more pollution.
	a) products			b) raw materials		c) harmful effect		d) influence
27.Estimation of a scientific discovery requires personal involvement in the research.
	a) structure			b) simulation		c) development		d) evaluation
28. What conditions must be observed so that you may obtain the desired result?
	a) noticed			b) maintained		c) measured		d) contained
29. Humankind can only survive by accepting responsibility and acting upon it.
	a) exchanging			b) comparing		c) taking on		d) developing
30. The intensive study of plasma could give us in the future an inexhaustible source  of power.
	a) cheap				b)non-traditional		c) exciting		d)renewable

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
HOW MANY WAYS TO SAY HELLO?
When two people meet in Tokyo they say konnichiha which means hello. But if they answer the phone, they say moshi moshi. Japan isn’t the only country to have its own special ‘telephone language’. The Spanish say hola for hello but on the phone they answer digame. Literally digame means ‘tell me’ – but this sounds very rude in English. Similarly, if a caller heard the words: I’m ready in London or New York, they think this was very strange. They’d ask ‘ready for what?’ But in Italy the word pronto! means exactly this.
	The rules for answering the phone in the international workplace seem to be more universal. Phone a business number and the receptionist is likely to say the name of the company and answer more politely or formally. For example, in English you make the polite offer of help with How can I help you? But even this isn’t quite as polite as the very formal Norwegian response: var so god literally meaning ‘be so good’.

1. Many nationalities greet people differently on the phone than they do face-to-face.
2. The Spanish are rather impolite when speaking on the phone.
3. When an Italian meets you in the street he greets you with the words meaning ‘I’m ready’.
4. At work, different nationalities use a similar approach to answering the phone.
5.	Italians are always ready to speak

Укладач: проф. Горошко О.І. ____________________________
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Варіант 16
1. Оберіть вірний варіант (a, b, c або d)

1.	It is necessary that applied research ... in cooperation with industrial engineers.
a) are be carried on	b) to be carried on	c) must be carried on		d) being carried on
2.	When I arrived at work I realized that I... my report at home.
a) had left		b) left			c) leave				d) was leaving
3.	If I ... him yesterday, I would have discussed the question with him.
a) saw			b) had seen		c) would see			d) see
4.	If you use pictures and slides, your report will be much .... 
a) interesting		b) most interesting	c) the most interesting		d) more interesting
5.	The results of his experiments are supposed ... very interesting.
a) be			b) to be			c) been				d) had been
6.	It is important... with the task.
a) him to cope		b) for him cope		c) for him to cope		d) he cope
7.	Lasers ... in research since the early 1960's.
a) have been used		b) are used		c) were used			d) are using
8.	He said he would ring me up when he ... his work.
a) will finished		b) finished		c) finish				d) finishes
9.	... who did it.
a) There is me		b) It is mine		c) There is mine			d) It is me
10 .I wonder ... he will come in time.
a)	 weather		b) what			c) whether			d) that
11.	When you ... some news let me know.
a) would get		b) get			c) will get			d) should get
12.	If business drops by 50% I think I... my job.
a) am losing		b) will lose		c) lose				d) have been loosing
13.	Before we appointed the new Chairman, our share price ... very low.
a) would be		b) were being		c) have been			d) had been
14.	He didn't study law ... he is not a prosperous lawyer.
a) so			b) because		c) due to				d) in order that
15.	... the necessary production facilities, the company entered production.
a) Has to set up		b) Having set up		c) Set up			d) To be set up
16.	She proved ... a well-read person.
a) being		b) been			c) has been			d) to be
17.	... a new building to be a success, it has to be the right design.
a) In order		b) So as			c) As well as			d) With
18.	She told me she ... to Milan at the end of next month.
a) came		b) will come		c) was coming			d) would come
19.	The fire ... by the electric fault.
a) was caused		b) should have caused	c) caused			d) was causing
20.	If we had any further information, we ... you immediately.
a) did contact		b) would contact		c) had contacted			d) will contact
21 The disadvantages of this analysis of the problem have been discussed carefully.
a) advantages 	b) perspectives		c) reasons			d) drawbacks
22.Many environmentalists feel that many changes in production are necessary.
a) ecologists	b) manufacturers		c) educationalists			d) reformists
23. The measurements are carried out with conventional equipment.
a)	modernized		b) ordinary		c) unique			d) special
24 Have they found any direct evidence against that widely spread conception?
a) opinion	b) proof			c) view				d) principle
25.Conservation of nature often conflicts with agriculture and industry interests.
a) observation	b) explanation		c) preservation			d) exploration
26. This system lifetime was greatly increased due to the application of this device,
a) utilization	b) demonstration		c) modification			d) installation
27. The development of electric cars is under way in a number of countries
a) in progress	b) under discussion	c) out of question			d) in advance
28.	Various ideas have been proposed to look into these phenomena.
	a) record		b) investigate		c) describe			d) explain
29.	From the earliest times, men have observed changes that happen in nature.
a) take place	b) result		c) meet				d) take part
30.	Articles in daily use which are made of plastics are familiar to everybody.
a) papers		b) objects		c) subjects		d) packages

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.

Britons beaten to City jobs by students with other languages

Continental competitors with better language skills are beating British graduates to jobs in the City of London and jobs in commerce. Businesses are no longer prepared to accept a monolingual workforce and the inability of otherwise well-educated Britons to speak a language other than English is becoming a handicap.
	A spokesman for the London Chamber of Commerce said: “Unfortunately the British are well down the league table of linguistic ability. Companies realize that there is business to be won out there and they need the staff who can speak foreign languages.” An EU research project discovered that 14% of British firms lost trade through linguistic and cultural barriers.
	Eurostar, which runs trains between London, Paris, and Brussels, needs staff who can speak English, French, and Dutch. French and Belgian graduates cope much better in theses languages than their British counterparts. A spokesman said: “this is because they seem to be better at speaking second languages to a higher level, with, where necessary, appropriate technical knowledge.”
	The food and drink group Diageo has decided that ‘knowledge of more than one language’ demonstrated that a candidate had the ability to ‘think across cultural boundaries’, which is important in the business world.

1. Compared with their continental equivalents British graduates are poorly educated.
2. City businesses have realized that they are less competitive than before.
3. The London Chamber of Commerce suggests that the British are successful with Eurostar because they are the worst at learning languages.
4. French and Belgian graduates are successful with Eurostar because they combine languages with something extra.
5. Diageo suggests that languages and cultural awareness go together.
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Варіант 17
1. Оберіть вірний варіант (a, b, c або d)

1. During tomorrow’s demonstration ______will be an interval of fifteen minutes.
a) it			b) they				c) there				d) here
2. This computer is so simple that it ________ be operated by anyone.
a) can 			b) is able to			c) need				d) ought
3.  It will take months for the new proof … thoroughly.
a) being checked  	b) to be checked			c) checked			d) to check
4. The experiments show agreement with the theory ________ the conditions are met.
a) unless			b) since				c) so that			d) if
5. The field tests were postponed _____ unfavorable weather conditions.
a) because of 		b) on account			c) because			d) since
6. Since the 17th century economists __________ methods for studying the use of economic resources. 
a) has developed		b) have been developing		c) are developing			d) have been developed
7. They ______ to start the project a month ago.
a) might 		b) must				c) had 				d) should
8. The data __________ outweighed those that we had had before.
a) obtained		b) obtaining			c) to obtain			d) to be obtained
9. They suggest that such results _____ very carefully considered.
a) should be 		b) to be				c) must been			d) would be
10. We had our plan _____ by the board yesterday.
a) approving 		b) to approve			c) will be approved		d) approved
11. Having been asked to speak at the symposium, _____________
a) some notes were prepared for Dr Knapp.			c) some notes were prepared by Dr Knapp
b) Dr Knapp prepared some notes.				d) the participants were pleased to hear Dr Knapp.
12 ________  any further details, we will inform you immediately.
a) If we found out	b) If we find out 			c) Should we have found out	d) Had we found out
13. Only the first choice was hard to make, _____________
a) no trouble weren’t causing by the rest of the choices.	c) no trouble to cause by the rest of the choices.
b) the rest of the choices to  be caused no trouble.		d) the rest of the choices causing no trouble.
14. It is possible for computers __________ all types of information.
a) that they handle		b) handling 		c) to handle 			d) when handling
15. _______ one of our European representatives.
a) Don’t forget to contact		b) Let contact		c) Miss not to contact		d) Don’t let contact
16. We must admit that the old method _________ some difficulties.
a) causing			b) causes		c) cause				d) to cause
17. France has not taken any decision yet, and
a) neither has some of the other countries. 			c) several other countries hasn’t either.
b) some other countries also haven’t. 			d) neither have several other countries.
18. I am looking forward to __________ with good news.
a) when you return		b) when you will return		c) your returning 		d) return you
19. He can’t recall when and where_______ that model.
a) he saw			b) did he see			c) does he see		d) he will see
20. It was essential that we _______ fresh data to confirm our idea.
a) would obtain		b) will obtain		c) to obtain		d) shall obtain
21. We can estimate the future growth of production.
a) guess			b) value			c) provide		d) prove
22. The computer has a word processing facility.
a) defect			b) institution		c) source		d) installation
23. It is a versatile material because it can be used in a great number of ways.
a) waterproof		b) man-made		c) scarce			d) many-sided
24. Madame Curie inspired many women to do scientific research.
a) implied		b) assisted		c) required 		d) stimulated
25. The discovery was significant and paved the way for other scientists’ work.
a) important		b) universal		c) available 		d) ordinary
26.The premises can be adapted  for our purposes.
a) provided		b) substituted		c) adjusted		d) improved
27. The amount of money owed by some countries is so enormous that it will probably never be repaid.
a) insufficient		b) huge			c) tiny			d) average
28. Although these theories were believed to be true for centuries, they were discredited by further experiments.
a) supported		b) disregarded		c) disproved		d) satisfied
29. These materials and products are expensive partly because they are so deficient.
a) abundant		b) rare			c) complex		d) vital
30. Success was attained after numerous experiments.
a) observed		b)achieved		c) produced		d) occurred

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Hearts of our people
“They are loving people. Their speech is the sweetest and gentlest in the world”. Christopher Columbus wrote these words about the first Native Americans that he met in the New World. In the late 15th century, there were about one million Native Americans in North and Central America living in 650 tribes*. They were diverse, with different cultures and as many as 2,200 languages.
Some groups lived in cities and villages; others were nomads*. Some were farmers; others hunted animals and gathered food. Some lived in bands of between 20 and 300 people; some lived in tribes, a group of bands; some lived in nations, a group of tribes. Some tribes had democratic social structures; others had rigid class systems. 
But the basic difference between the Native Americans and the European settlers was their philosophies toward the land, and it was the main cause of conflict. The Native Americans lived in harmony with nature and believed that the land could not be the private property of individuals. Instead, they were allowed to use the land. On the other hand, the European settlers believed strongly in private and individual ownership of land and came to the New World seeking land. This conflict and the efforts to resolve it shaped the history between these two groups of peoples during a 400-year period.
These conflicts formed the Native American story— the dispossession of cultures, the movement of tribes, the cession* of millions of acres of land, and the assimilation into the "American culture." Between 1607 and 1890 the United States signed 370 peace treaties with Native American tribes and established more than 300 reservations in the various states and numerous Indian communities. 

nomad - a member of a people or tribe who move from place to place to find pasture and food
tribe – a group of people of the same race, beliefs, language, etc.
cession - the act of transferring of rights, property, land or territory 

1. Christopher Columbus had no special sympathy for the Native Americans.
2. The Native Americans groups were very much alike and they spoke the same language.
3. Tribes consist of bands and nations.
4. Land caused the majority of conflicts between the Native Americans and the European settlers.
5. The European settlers wanted the land to be the private property of individuals.
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Варіант 18
1. Оберіть вірний варіант (a, b, c або d)

1. _____ seems to be something wrong with my modem.
a) It 			b) There			c) Me				d) Here
2. When I finish the course next year, I _______ speak perfect French.
a) will			b) can			c) will been			d) won’t be able
3. Cuba is _______ sugar-growing areas in the world.
a) one  most largest	b) one of the larger	c) one of largest			d) one of the largest
4. The system will not fail to perform ___ the requirements are satisfied.
a) lest			b) provided		c) if 				d) in case
5. The inspector said the safety precautions _____ inadequate. 
a) will be		b) are			c) have been			d) were
6. They ________ some kind of agreement by the end of next year. 
a) have reached		b) are reaching		c) had been reached		d) will have reached
7. An experienced manager _______ think too much before taking decisions.
a) doesn’t have to	b) needn’t 		c) won’t be able			d) hasn’t to
8. ___________ they do the results of their work are always good.
a) Moreover		b) In view of		c) Whatever 			d) However
9. It was important that we _______ fresh data to confirm our idea.
a) would obtain		b) must obtain		c) to obtain			d) shall obtain
10. They are still having their computer ______
a) repairing 		b) repaired		c) to repair			d) to be repaired
11. Having been presented with the facts, _________
a) the problem was discussed by the members of the committee. 		d) they proved to be  very interesting.
b) the members of the committee discussed the problem.			c)  they were proved to be very interesting.
12. They stated that the book … especially for the computer professional.
a) will design		b)had designed		c) was designed			d)would design
13. This computer is so simple that it ________ be operated by anyone.
a) can 			b) is able to		c) need				d) ought
14. The data __________ outweighed those that we had had before.
a) obtained		b) obtaining		c) to obtain			d) to be obtained
15. __________ not only this method but also possible alternatives.
a) Don’t consider		b) To consider		c) Considering			d) Let’s consider
16. There is a second approach to the problem that _______ a slight time saving.
a) don’t provide		b) provides		c) providing			d) provide
17. California relies heavily on income from fruit crops, and
a) so does Florida.	b) Florida too.		c) Florida is as well.		d) neither does Florida.
18. We are interested in _________ us about the results.
a) that she inform	b) when she will inform	c) her informing 			d) her to has informed
19. Before we appointed the new Chairman, our share price ... very low.
a) would be		b)were being		c) have been			d) had been
20. . . . about that event, he replied nothing.
a) Asking 		b) Having asked		c) Was asked			d) Being asked 
21. The small amount of water and food in this area cannot sustain the large population.
a) guarantee		b) survive		c) support			d) decrease
22. These modern computers have only some of human traits.
a) beings		d) organs		c) characteristics			d) qualifications
23. He performed experiments to confirm what they had proposed.
a) verify			b) disprove		c) contradict			d) survive
24. The project was postponed due to negative economic conditions.
a) contemporary		b) appropriate		c) adequate			d) unfavourable
25.The subject was controversial for a long time, and there will probably never be complete agreement.
a) disputed		b) interesting		c) discussed			d) topical
26. The concept is difficult to grasp from a definition alone, but a description makes it easier to visualize.
a) depict			b) understand		c) explain			d) verify
27.The goal of all scientific investigation is to predict the future.
a) cause			b) result			c) use				d) aim
28.We can give other examples of scientific achievements that were a result of joint efforts.
a) competition		b) conversation		c)cooperation			d) contradiction
29.Mathematics gives precision to science.
a) accuracy		b) significance		c) challenge			d) prominence
30. In the 20th century, Britain developed gradually from an industrial economy into a service economy.
a) progressed		b) modified		c) upgraded			d) evolved

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Learning to combine the world of work and study
Most university students have traditionally taken jobs in their holidays, particularly summer. The NUS survey found that students give two main reasons for working during term-time: to pay their basic living and study costs (68 per cent) and to fund their social life (65 per cent). It is clear that most work out of sheer necessity. 
But there is one silver lining to this particular cloud. Working during your course not only provides you with much needed cash but can equip you with some additional skills not normally to be had from holiday work. Combining earning with learning may be onerous, but these extra skills do make you even more attractive to recruiters when you graduate and start a career.
Finding part-time jobs which are relevant to either your degree or future career can be difficult. Although the Government, the Association of Graduate Recruiters and others want every undergraduate to have "quality work experience" as part of their learning, at present only about half of all students find such work.
Casual work in university towns, particularly with the flexible hours needed to accommodate your studies is soon snapped up. Working on the campus is particularly popular, and students unions and many universities do make efforts to employ as many students as possible. But obviously they can satisfy only a minority of students.
Does working during term-time harm your studies? It depends. In the NUS survey, 48 per cent said they would have got higher grades if they were not employed. But only 15 per cent of the same sample said employment had affected their studies badly. The majority (58 per cent) said it had affected their study "slightly". Much seems to depend on the number of hours worked.
	
NUS – abbreviation for National Union of Students
silver lining - a comforting or hopeful aspect of an otherwise desperate or unhappy situation (esp. in the phrase every cloud has a silver lining)
onerous – difficult, heavy, troublesome; laborious or oppressive
snap up – to take or buy quickly and eagerly

1. Most University students usually work during term time only because they’re interested very much in getting special career skills.
2. Students working during their course have better career opportunities.
3. Students’ part-time job should be connected with their future career.
4. It’s easy to find a part-time job in university towns or on the campus.
5. Students would study better if they didn’t have to work during term-time.

Укладач: проф. Горошко О.І. ____________________________

Завідувач кафедри: проф.Горошко О.І.________________



МІНІСТЕРСТВО ОСВІТИ І НАУКИ УКРАЇНИ
Національний технічний університет 
«Харківський політехнічний інститут»


КОМПЛЕКСНА КОНТРОЛЬНА РОБОТА

Напрям підготовки	054 Соціологія
Дисципліна			"Іноземна мова за фахом"  

Варіант 19
1. Оберіть вірний варіант (a, b, c або d)

1. The discussion . . . very interesting. It is a pity I couldn’t stay.
a) was 	b) will be 	c) would be 	d) were
2. I have to do some extra work now because one of my colleagues … a holiday.
a) has 		b) has had 	c) is having 	d) would have
3. If it … a country, California would be one with more people than Canada and an economy the size of China's.
a) would be 	b) has been 	c) will be 	d) were
4. So far no attempts …to improve the situation. 
a) must to be made	b) will make	 c) haven’t been made	d) have been made
5. The result of this study is intriguing, and surely worth … in a larger piece of research.
a) to follow up 		b) to be followed up 	c) following up	d) followed up
6. The danger of radiation for human health makes us … different means of protection.
a) develop		b) to have developed	c) to develop	d) to be developed
7. For the first time since the industrial revolution, … than 10% of American workers are now employed in manufacturing.
a) least			b) more 			c) as many as 	d) farther
8. It will take months for the new proof … thoroughly.
a) being checked		b) to be checked 		c) checked   d) to check
9. The conference was devoted to the subject they ... for two years.
a) had been investigating		b) investigated 		c) will investigate		d) investigate
10. Technological improvements are needed … wind, solar and hydrogen can be more viable parts of the energy equation.
a) lest		b) because of	c) so that	d) unless
11. It is important that this project should be adequately financed. Then… .
a) a number of other difficulties will appear 	c) it will succeed
b) there is little hope that it will succeed 		d) it will be too late
12.… this theory may seem it does have some weak points.
	a) No matter how convincing	 b)In spite of convincing 	c) Provided it is convincing d) In order to convince
13. She hasn't begun working on her Ph.D. … working on her master's.
a) still because she is yet	b) yet as a result she is still	c) still while she is already	d) yet because she is still
14. The more she worked, ….
a) the less she achieved	b) she achieved not enough	c) she did not achieve enough	d) she was achieving less
15. He has received several scholarships ….
a) not only because his artistic but his academic ability 	c) because of his academic and artistic ability
b) for both his academic ability as well as his artistic		d) as resulting of his ability in the art and the academy
16. In software construction there are some techniques that permit us to recognize ….
a) if not correct a given program is	  b) if a given program is correct   c) or is a given program correct  d) isn't a given program correct
17. The students liked that professor's course because ….
a) there was few if any homework 			c) there was little or no homework
b) not a lot of homework was			d) of there wasn't a great amount of homework
18. There has already been mentioned the fact that scientific discoveries … .
a) which cannot be wholly dealt with on a national scale 	c) proving scientists’ new hypotheses
b) makes the problem far more complicated than it seems 	d) are greatly assisted by the developments in research techniques
19. Not only has demand been high, but … is coming from places that are hard to reach.
a) also the oil we have been finding	b) unless we found oil	c) finding the oil	d) we have been finding oil
20. The chairman requested that … ..
a) the members studied more carefully the problem 	c) with more carefulness the problem could be studied
b) the problem would more carefully be studied	d) the members studied  the problem more carefully
21. We also have a series of public lectures given by guest speakers.
a) number	b) matter	c) means	d) sort
22. It is now common corporate policy for a company to have a mission statement explaining the aims of the business.
a) strategic	b) domestic	c) international 	d) organizational
23. I want you to illustrate your point by providing some supporting examples.
a) receiving	b) removing	c) obtaining	d) supplying
24. More and more students decide to study for a Master’s degree to enhance their knowledge. 
a) employ	b) improve	c) evaluate	d) apply
25. You are obliged to present an electronic version of your report.
a) informed	b) known	c) required	d) proposed
26. The amount of money owed by some countries is so enormous that it will probably never be repaid.
a) insufficient	b) huge 		c) tiny		d) average
27. The experiments were conducted simultaneously in London and Rome.
a) at the same time	 b) step by  step		c) in the same place	d) from time to time
28. When testing a hypothesis, every effort is made to eliminate subjective or biased ideas.
a) consider	b) modify	c) avoid		d) reduce
29. People should be aware of the ecological threats caused by this kind of production.
a) ignorant	b) careful	c) conscious	d) opposite
30. Scientists are still disputing about the origin of the Universe.
a) experimenting		b) arguing	 c) thinking 	d) explaining

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Students with jobs lose out in exams
Survey shows 50% feel forced to take term work. The most cash-strapped university students are jeopardizing their chances of exam success by combining their studies with long hours in low paid jobs, according to research.
Half of those surveyed said they combined paid work with their studies during term-time, and half focused solely on their academic work. Students who worked admitted they spent less time on academic work because of the demands of regular term-time jobs — typically in bars, pubs, cafes and shops — and often skipped lectures and handed work in late. For those working 15 hours a week the odds of obtaining a first class degree were cut by more than a third.
The results of the three-year study confirm the phenomenon of students who are forced into regular employment to pay for basics such as food and rent. It also shows that students from the poorest homes and ethnic minority backgrounds most likely to be working long hours to help pay bills.
The study, by researchers at London South Bank University and the Open University, is the first to confirm that students forced to work as a result of financial hardship suffer in terms of academic performance.
Students tended to work in low-paid jobs, and reported that their studies suffered as a direct result of their work. Many admitted missing lectures, producing poor quality assignments, and having difficulty accessing libraries and computer facilities.
More than 80% said they spent less time studying because of their term-time jobs, and nearly three-quarters spent less time preparing coursework. Many students believed that term-time working damaged academic performance — worries that were well-founded. The more students worked during term-time, the lower their average end-of-year marks or final degree results.

jeopardize – to put in danger; to risk
cash-strapped - short of money; impoverished

1. Combining studies with long hours in low-paid jobs increase students’ chances of exam success.
2. Working students often miss lectures and don’t perform their tasks in time.
3. The students want to take term work in order to fund their social life (visiting bars, pubs, cafes and shops).
4. Students tending to work in low-paid jobs produce poor academic results.
5. Most students spend less time studying and preparing coursework because the curriculum contains fewer subjects.
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Варіант 20
1. Оберіть вірний варіант (a, b, c або d)

1. Henry Ford’s introduction of the assembly line vastly reduced the time it took …
a) to make a car		b) making a car 		c)for making car		d)a car to make
2. In terms of population, Bangkok, Thailand , is … than Barcelona, Spain.
a) as large	b) larger		c)the largest	d) more large
3.France, where this process …, took an early lead in aluminum production.
a) was developed 	b) will develop	c) has developed		d)were to develop
4.Until 1845, scientists failed to discover a process which … separate aluminum from its various alloys.
a) must		b) could		c)will		d)ought
5.Mr Williamson  … the firm soon whether or not he voluntarily turns in his resignation.
a) has left	b) are leaving	 c)have left	d)will be leaving
6. … he got the best grade on the quiz surprised everyone.
a) the fact what	b) the fact that 	c) the fact if	d)  the fact when
7.That experiment demonstrates that people have trouble …more than seven digits in sequence.
a) recalled	b) being recalled		c) recalling	d) having recalled
8.They stated that the book … especially for the computer professional.
a) will design	b) was designed		c)had designed	d)would design
9.That company’s electric cars … to be virtually trouble-free.
a) report		b) are reporting 		c)reports	d)are reported
10.It is essential that she … us beforehand.
a) is calling	b) shall call	c)should call	d)was to call
11.The project faced a whole series of difficulties. Yet, despite all of them… .
a) the organizers decided to abandon their plan.	c) it was a complete failure.
b) it proved to be a great success.			d) the difficulties were impossible to overcome. 
12.It is important that this project be adequately capitalized and that strict accounting procedures be applied from the beginning. Otherwise , … .
a) its success will be assured		c) there are a number of further measures which should be taken
b) there is little hope that it will succeed		d) nothing will go wrong
13.Scientists know that the huge Hola crater in Arizona was made by a meteorite, but do not know exactly … .
a) when did the meteorite hit the earth	c) when the meteorite the earth hit	
b) when the meteorite hit the earth		d) when did the earth hit the meteorite
14. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated 	d) Having translated 
15.The number of Internet buyers in Latin America is growing fast, … .
a) while Europeans do not like electronic commerce		c) though one can have a computer now
b) yet, you can always find products on the Internet		d) however, there are many advantages to buying on the Internet
16. The road repairs . . . on the motorway had seriously delayed the traffic.
a) will carry out	b) having carried out	c) being carried out	d) to carry out
17…, ozone levels in the ionosphere have dropped recently.
a) However the reason	b) They are the reason	c) What is the reason	d) Whatever the reason
18 Our firm seems  . . . a large number of outdated computers.
a) to have 	b) have		c) has		d) having  

19. He didn’t know how long the staff training course . . . 
a) will last	b) lasts		c) can last	d) would last
20.While dozens of popular authors claimed to be experts on the subject, … .
a) there were much other such authors		c) none of them had studied it in a systematic way
b) some of the authors are not really so popular	d) there being no experts on other subjects
21. The company has experienced a number of significant changes in the last few years.
a) influenced	b) undergone		c) required	d) implemented
22. You should speak more loudly and more slowly when you want to emphasize an important point.
a) introduce 	b) stress		c) discover	d) report
23. The North Americans consume more energy and resources than any other nation.
a) use 		b) generate	c)make		d) apply
24. One of the most important skills to learn is how to utilize your time effectively.
a) take notice of		b) pay attention to		c) take care of		d) make use of
25. The outcome of the experiment was a complete surprise to everyone.
a) beginning	b) start		c) result			d) launch
26. He is a pleasant colleague, and very proficient at his job.
a) skilled	b) profitable		c) popular	d) active
27. They declared that they had been the first to discover those facts.
a) proposed	b) introduced	c) stated		d) demonstrated
28. The theory proved to be correct and was a major breakthrough in the history of science.
a) true		b) valuable	c) unique		d) false
29. Communication between researchers is dependent on precise definition of concepts and ideas.
a) faulty		b) broad		c) accurate	d) standard
30. The results obtained signify that we still know very little about these phenomena.
a) convince	b) disprove	c) guarantee		d) indicate

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
BEAT THE TRAFFIC BY TELECOMMUTING
Traditionally, people get up in the morning, get dressed, and fight through rush hour traffic to go to the office because that is where the work is. However, for many knowledge workers, work is really at a micro or terminal, whether in an office or at home. More and more employees are beginning to question the wisdom of going to the office in the traditional sense. Many would prefer telecommuting and work in the more comfortable home surroundings. Telecommuting is “commuting” to work via data communications link between home and office.
In theory, millions of people could telecommute to work at least a few days a week. People whose jobs involve considerable interactions with a computer system are perfect candidates (such as those who process insurance claims and programmers). Managers who need a few hours, or perhaps a few days, of interrupted time to accomplish tasks that do not require direct personal interaction are beginning to consider the merits of telecommuting.
At present, telecommuting is seldom an employee option. Most companies that permit telecommuting are restricting it to management and computer professionals. However, it is only a matter of time before self-motivated individuals at all levels and in variety of disciplines are given the option of telecommuting at least part of the time. Most workers would view telecommuting and the accompanying flexible work hours as “perks” of employment. The company that doesn’t offer them may be at a disadvantage in recruiting quality workers.

1. For many workers work isn’t really at micro or terminal, whether in on office or at home.
2. A lot of people understand advantages of telecommuting
3. Managers don’t consider the merits of telecommuting.
4. Nowadays telecommuting is often an employee option.
5. As a rule companies don’t restrict telecommuting to management.
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Варіант 21
1. Оберіть вірний варіант (a, b, c або d)

1. The system is dangerous, . . . must use it.
a) everything	b) anybody	c) no one	d) somebody
2. She plans . . . to study the alternatives and to implement them soon.
a) also		b) both		c) either		d) not only
3. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated		d) Having translated
4. The trainee . . . writing the report before the director came.
a) finished 	b) was finishing		c) should finish		d) had finished
5. They like to work in the central public library and so . . . I.
a) do		b) like			c) am		d) work
6. . . . more attention is now being paid to environmental issues.
a) Great		b) Very 		c) Much		d) Too
7. The device is very delicate and has to . . .  with great care.
a) be handled 	b) be handling		c) handle	d) being handled
8. These methods of purifying industrial wastes . . . much attention to recently.
a) was given 		b) have been given		 c) were giving		d) had to been given
9. He . . . left a message for you, here it is.
a) was 			b) is		 c) will			 d) has
10. When you wake up tomorrow, I . . . over the Atlantic ocean.
a) would fly 		b) will be flying 		c) must fly		d) can fly
11. If she … a skilled programmer, they would offer her a good position in a big company.
a) been			b) being 		 c) were			d) should
12. He didn’t know if there . . . a special mechanism used in the process.
a) have existed		b)were existing 		c) existed		d) exist
13. If I had remembered his number, I would . . . him.
a) telephone 	b) be telephoning		c) telephoning		d) have telephoned
14. The European computer companies insisted that a better relationship with the public authorities . . . be built in Europe.
a) should to	b) will		c) had to 	d) are to
15. They won’t change their decision until they . . . more information.
a) got 		b) get		c) will get	d) would get
16. They discussed their points after they . . . the contract.
a) have signed 		b) signing 		c) having signed		d) had signed
.17.  . . at from this point the problem doesn’t seem too difficult. 
a) Looking 	b) Having looked		c) Will be looked		d) Being looked
18. He was sorry because he. . . the device before.
a) not having tested 	b)does not test		c) hadn’t tested 		d) isn’t testing
19. The gravitational forces do not let the planets ... the solar system.
a) leave		b) leaving	c) to be left		d) to leave.
20. Our firm seems  . . . a large number of old computers.
a) to have		b) have			c) has 		d) having
21. University regulations state that students must pass 18 modules to graduate.
a) promote	b) plan			c) report		d) declare
22. Most economists forecast that China will become a leading world economy in the 21st century.
a) consult	b) discuss		c) predict	d) offer
23. These countries are forced to rely on aid from richer nations in order to feed their population.
a) give up 	b) look after	c) go on		d) depend on
24. The new computer system created a lot of interest among potential users.
a) generated	b) maintained		c) lost		d) showed
25 Employees are keen to recruit people who have at least a basic ability in computing.
a) research 	b) qualification		c)contribution	d) application
26. Preliminary results suggest that we are going in the right direction.
a) experimental 		b) initial		c) encouraging		d) ultimate
27. Don’t assume something is true until facts confirm it.
a) accept	b) deny 		c) describe	d) predict
28. The University must make sure that your English is sufficient.
a) excellent 	b) moderate		c) huge		d) adequate
29. When the government increased the tax on petrol, there was a significant rise in transport costs.
a) resultant	b) considerable		c) continuous	d) simultaneous
30. Until the last century, this concept was regarded as a ridiculous idea.
a) suggested		b) preferred		c) considered		d) applied

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.

The au pair in Britain
One of the ways open to a girl student of the English language to improve her linguistic knowledge is to come to Britain for a year as an au pair girl. It certainly seems to be a very popular method, for every year sees more and more girls entering English homes as au pair girls.
Forty years ago it was generally understood in Britain that the term "au pair" was only used to describe a girl who came here to perfect her linguistic or professional knowledge; lived as a member of an English family; and the family provided her with "pocket money". She was not paid a salary.
As a member of the family she helped with the housework and, if there were any, helped look after the children; but she was not asked to do more than would normally be expected of a teenage daughter of an average middle-class -— particularly professional-class — English family.
In the 1960s it was reckoned there were 9,000 au pair girls in Britain; today an estimated number is 30,000 in London alone. They are treated as cheap labour, many of them placed by agencies with no interest in their future welfare.
An article entitled “Law sought to protect au pair girls' interests" was published in one of the British newspapers recently. The author wrote: “Au pair girls in Britain need a legally binding agreement to protect them against exploitation. Little notice is taken of Home Office recommendations: not more than five hours a day domestic work, at least one free day a week, sufficient pocket money, time to study and meet people. The girls cannot go on strike; that sort of action goes against the spirit of the system, which is intended to be one of fellowship, hospitality and a good relationship between the girl and the family."
He emphasized the lack of real protection from families who overworked the girls or agencies that place them, collect a fee and forget about them.

1. The word ‘au-pair’ means a young foreigner, usually a girl, who undertakes housework in exchange for board and lodging, especially in order to learn the language.
2. The au pair is a usual well-paid job.
3. Au pair girls don’t get a salary; they’re given a small weekly sum of money for day-to-day spending, incidental expenses, etc.
4. If au pair girls feel that they’re exploited too much, they go on strike.
5. Au pair girls in Britain need legal protection as they work too much, with few free days, and little time to study.
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Варіант 22
1. Оберіть вірний варіант (a, b, c або d)

1. Active research on genetic problems ... for about seventy years now.
b) was carried on		b) has been carried on		c) is being carried on		d) is carried on
2.	When I ... my present work, I will start writing my doctoral thesis.
b) will be completed		b) shall complete		c) complete 		d) have been completing
3.I ... through a few English papers last week but I couldn't find a spare minute.
b) should look			b) had to look		c) could 		d) have been looking
4. He usually ... his work day with checking the apparatus.
b) starts		b) starting			c) has started		d) is starting
5. I wonder ... he will come in time.
b) weather		b) what				c) whether 		d) that
6.I am now busy ... an exhibition at the institute.
b) to arrange		b) have been arranged		c) arranging		d) to be arranging
7.I ... a Ph.D. degree at this institute in 1984. 
	a) was received 		b) received		c) have been receiving	d) had received
8.	The problem is interesting enough ... much attention.
b) will attract			b) for attract		c) being attracted		 d) to attract
9.	It was shown thirty years later that G. Mendel's conclusions ... correct.
b) had been			b) was			c) are			d) have been
10.	For a detailed analysis I took the data ... by my research group.
b) obtained			b) obtaining		c) was obtained		d) having being obtained
11.	The gravitational field of the Moon has influence on the life of sea animals ....
b) had, in fact, never been observed     b) observations were made     c) is likely to be observed	d) as it proved by recent observations
12.	…Prof. N emphasized the importance of direct contacts among scientists.
b) Opened the conference		b) When opening the conference 	c) The longer the speech	d) It was
13.	Do you know ... ?
c) the atomic nucleus was discovered when			c) when was the atomic nucleus discovered
d) when the atomic nucleus was discovered			d) when was discovered the atomic nucleus
14.	... one or several electrons must leave the atom.
b) To form a positive ion 	b) The formation of a positive ion 	    c) It is a positive ion that is formed   d)Being a positive ion to form
15.	Many sciences today are so closely linked ....
c) however difficult to draw a line between them		c) that it's difficult to draw a sharp line between them
d) drawing a sharp line between them			d) leads to drawing a sharp line between them
16.	The interchange of information in future will be better than it is now ....
b) to take any form	b) any form to be taken 	c) take any form		d)whatever form it may take
17.	It is useful to learn ... is totally dependent on the environment.
c) however changing animal behaviour			c) if the change we see in animal behaviour
d) as a result of our observation				d) the more we observe animal behaviour
18.	... but they also make long-range predictions.
c) Although scientists explain well-known facts		c) Scientists explain not only well-known facts
d) Can't scientists only explain well-known facts		d) Scientists explaining well-known facts
19.	... that attracted most attention.
b) It was Brown's report	b) It being Brown's report	c) Having been Brown's report 	d) This will being Brown's report
20.	The more accurate the calculations ....
b) so the results 	b) are reliable results 	c) the more reliable are the results	d) for the results to be reliable
21.	We cannot view this problem on the basis of modern concepts.
b) from the point of view		b) in spite of		c) because of		d) along with
22.	The great advantage of the so-called graphic computers is in solving design problems.
b) weakness			b) illustration		c) strength		d) discomfort
23.	It is usually more economical to buy large quantities of a product than small quantities.
b) cheaper			b) more common		c) up-to-date		d) less political
24.	Human labor has the capacity to make use of the equipment and techniques available.
b) out-dated			b) reliable		c) accessible		d) new
25.	People seem to realize the potential dangers of some scientific discoveries.
b) want				b) appear		c) can			d) try
26.	Properties of any region of space depend considerably on the presence and form of matter nearby.
b) slightly			b) generally		c) in fact		d) greatly
27. Various ideas have been proposed to examine these phenomena.
b) record	b) describe		c) investigate		d) explain
28.	Both reports predict that the temperature change will be greater in the polar regions than near the equator.
b) object			b) forecast		c) undergo		d) compare
29.	Inequality is low in unchanging, "traditional" society, but rises as economic growth accelerates.
b) speeds up			b) dates back		c) arranges		d) begins
30.	Statistics may be defined as the branch of mathematics which is concerned with the use of collected numbers representing facts or measurements.
b) cooperates with		b) is opposed to		c) increases		d) deals with

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.

Learning to combine the world of work and study
Most university students have traditionally taken jobs in their holidays, particularly summer. The NUS survey found that students give two main reasons for working during term-time: to pay their basic living and study costs (68 per cent) and to fund their social life (65 per cent). It is clear that most work out of sheer necessity. 
But there is one silver lining to this particular cloud. Working during your course not only provides you with much needed cash but can equip you with some additional skills not normally to be had from holiday work. Combining earning with learning may be onerous, but these extra skills do make you even more attractive to recruiters when you graduate and start a career.
Finding part-time jobs which are relevant to either your degree or future career can be difficult. Although the Government, the Association of Graduate Recruiters and others want every undergraduate to have "quality work experience" as part of their learning, at present only about half of all students find such work.
Casual work in university towns, particularly with the flexible hours needed to accommodate your studies is soon snapped up. Working on the campus is particularly popular, and students unions and many universities do make efforts to employ as many students as possible. But obviously they can satisfy only a minority of students.
Does working during term-time harm your studies? It depends. In the NUS survey, 48 per cent said they would have got higher grades if they were not employed. But only 15 per cent of the same sample said employment had affected their studies badly. The majority (58 per cent) said it had affected their study "slightly". Much seems to depend on the number of hours worked.
	
NUS – abbreviation for National Union of Students
silver lining - a comforting or hopeful aspect of an otherwise desperate or unhappy situation (esp. in the phrase every cloud has a silver lining)
onerous – difficult, heavy, troublesome; laborious or oppressive
snap up – to take or buy quickly and eagerly

1. Most University students usually work during term time only because they’re interested very much in getting special career skills.
2. Students working during their course have better career opportunities.
3. Students’ part-time job should be connected with their future career.
4. It’s easy to find a part-time job in university towns or on the campus.
5. Students would study better if they didn’t have to work during term-time.
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Варіант 23
1. Оберіть вірний варіант (a, b, c або d)

1.	I think, very soon a cure for AIDS ....
b) will find		b) will have found		c) will be found		d) will have being finding
2.	Would you mind ... me a copy of your conference paper?
b) having sent		b) sending			c) to send		d) sent
3.	Your reception room is bigger than ....
b) our			b) ours				c) we			d) us
4.	We heard him ... this story yesterday.
b) to tell			b) told				c) tell			d) has told
5.	What would you write about if you ... a popular writer?
b) were			b) would			c) had been		d) are
6.	We hadn't heard from him for a long time. He ... wrote nor telephoned.
b) either		b) nor				c) neither		d) didn't
7.	Who ... in the house?
b) do live		b) does live			c) lives			d) live
8.	Have you ever been to England? - Yes, I ... there last year.
b) was been		b) was				c) had been		d) have been
9.	When ... to ionizing radiation, living cells cannot perform their normal functions.
	a) exposed		b) exposing				c) have exposed		d) expose
10. I can't attend his today's lecture because I ... to work.
b) must			b) had				c) can			d) have 
11. These facts …. since last century.
b) have been observed	b) were observed			c) are observed		d) are being observed
12.	Very soon this work ... us many discoveries of great importance.
b) has brought	b) will be brought		c) brings			d) will bring
13.	For hundreds of years people ... of cosmic flights.
b) are dreaming	b) have been dreaming	c) have been dreamed	d) are being dreamed
14.	The head of the laboratory ... to check everything himself.
b) are	b) be able			c) had			d) must
15.	There is no doubt that radio and TV are among the … miracles of modern science.
b) most great	b) more greater		c) greatest		d) most greatest
16    The question ... at next Thursday's meeting concerns all of the laboratory staff.
b) to be discussing	b) discussed			c) being discussed	d) to be discussed
17.	I watched them ... the equipment.
b) installed	b) installing			c) were installing		d) had installed
18.	Nobody expected them ... a discovery.
b) to make	b) would make		c) made			d) make
19.	The value of his research ... not be underestimated.
b) are	b) must			c) has			d) is
20.	He must ... his attempts to obtain better results several years ago.
b) give up	b) have given up		c) gave up		d) has given up
21. I do believe that the problem can be split into three levels.
a) interpreted	b) divided			c) solved		d) looked at
22. Governments should set limits for engine sizes and production.
a) approach		     b) introduce			c) balance		d) recognize
23. The book summarizes recent developments in this field.
	a) includes			b) ends with		c) is full of		d) sums up
24. Science provides the means of profiting from knowledge of the laws of nature.
	a) keeping up-to-date with		b) encouraging		c) taking advantage of	d) improving
25. Technology is supplying science with more and more sophisticated instruments.
	a) providing			b) demanding		c) joining		d) competing
26. That factory is producing more and more pollution.
	a) products			b) raw materials		c) harmful effect		d) influence
27.Estimation of a scientific discovery requires personal involvement in the research.
	a) structure			b) simulation		c) development		d) evaluation
28. What conditions must be observed so that you may obtain the desired result?
	a) noticed			b) maintained		c) measured		d) contained
29. Humankind can only survive by accepting responsibility and acting upon it.
	a) exchanging			b) comparing		c) taking on		d) developing
30. The intensive study of plasma could give us in the future an inexhaustible source  of power.
	a) cheap				b)non-traditional		c) exciting		d)renewable
2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.

Hearts of our people
“They are loving people. Their speech is the sweetest and gentlest in the world”. Christopher Columbus wrote these words about the first Native Americans that he met in the New World. In the late 15th century, there were about one million Native Americans in North and Central America living in 650 tribes*. They were diverse, with different cultures and as many as 2,200 languages.
Some groups lived in cities and villages; others were nomads*. Some were farmers; others hunted animals and gathered food. Some lived in bands of between 20 and 300 people; some lived in tribes, a group of bands; some lived in nations, a group of tribes. Some tribes had democratic social structures; others had rigid class systems. 
But the basic difference between the Native Americans and the European settlers was their philosophies toward the land, and it was the main cause of conflict. The Native Americans lived in harmony with nature and believed that the land could not be the private property of individuals. Instead, they were allowed to use the land. On the other hand, the European settlers believed strongly in private and individual ownership of land and came to the New World seeking land. This conflict and the efforts to resolve it shaped the history between these two groups of peoples during a 400-year period.
These conflicts formed the Native American story— the dispossession of cultures, the movement of tribes, the cession* of millions of acres of land, and the assimilation into the "American culture." Between 1607 and 1890 the United States signed 370 peace treaties with Native American tribes and established more than 300 reservations in the various states and numerous Indian communities. 

nomad - a member of a people or tribe who move from place to place to find pasture and food
tribe – a group of people of the same race, beliefs, language, etc.
cession - the act of transferring of rights, property, land or territory 

1. Christopher Columbus had no special sympathy for the Native Americans.
2. The Native Americans groups were very much alike and they spoke the same language.
3. Tribes consist of bands and nations.
4. Land caused the majority of conflicts between the Native Americans and the European settlers.
5. The European settlers wanted the land to be the private property of individuals.

Укладач: проф. Горошко О.І. ____________________________
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Варіант 24
1. Оберіть вірний варіант (a, b, c або d)

1.	It is important... with the task.
b) him to cope		b) for him cope		c) for him to cope		d) he cope
2.	Lasers ... in research since the early 1960's.
b) have been used		b) are used		c) were used			d) are using
3.	He said he would ring me up when he ... his work.
b) will finished		b) finished		c) finish				d) finishes
4.	... who did it.
b) There is me		b) It is mine		c) There is mine			d) It is me
5.I wonder ... he will come in time.
a)	 weather		b) what			c) whether			d) that
6.	It is necessary that applied research ... in cooperation with industrial engineers.
b) are be carried on	b) to be carried on	c) must be carried on		d) being carried on
7.	When I arrived at work I realized that I... my report at home.
b) had left		b) left			c) leave				d) was leaving
8.	If I ... him yesterday, I would have discussed the question with him.
b) saw			b) had seen		c) would see			d) see
9.	If you use pictures and slides, your report will be much .... 
b) interesting		b) most interesting	c) the most interesting		d) more interesting
10.	The results of his experiments are supposed ... very interesting.
b) be			b) to be			c) been				d) had been
11.	When you ... some news let me know.
b) would get		b) get			c) will get			d) should get
12.	If business drops by 50% I think I... my job.
b) am losing		b) will lose		c) lose				d) have been loosing
13.	Before we appointed the new Chairman, our share price ... very low.
b) would be		b) were being		c) have been			d) had been
14.	He didn't study law ... he is not a prosperous lawyer.
b) so			b) because		c) due to				d) in order that
15.	... the necessary production facilities, the company entered production.
b) Has to set up		b) Having set up		c) Set up			d) To be set up
16.	She proved ... a well-read person.
b) being		b) been			c) has been			d) to be
17.	... a new building to be a success, it has to be the right design.
b) In order		b) So as			c) As well as			d) With
18.	She told me she ... to Milan at the end of next month.
b) came		b) will come		c) was coming			d) would come
19.	The fire ... by the electric fault.
b) was caused		b) should have caused	c) caused			d) was causing
20.	If we had any further information, we ... you immediately.
b) did contact		b) would contact		c) had contacted			d) will contact
21 The disadvantages of this analysis of the problem have been discussed carefully.
b) advantages 	b) perspectives		c) reasons			d) drawbacks
22.Many environmentalists feel that many changes in production are necessary.
b) ecologists	b) manufacturers		c) educationalists			d) reformists
23. The measurements are carried out with conventional equipment.
	a)	modernized		b) ordinary		c) unique			d) special
24 Have they found any direct evidence against that widely spread conception?
b) opinion	b) proof			c) view				d) principle
25.Conservation of nature often conflicts with agriculture and industry interests.
b) observation	b) explanation		c) preservation			d) exploration
26. This system lifetime was greatly increased due to the application of this device,
b) utilization	b) demonstration		c) modification			d) installation
27. The development of electric cars is under way in a number of countries
b) in progress	b) under discussion	c) out of question			d) in advance
28.	Various ideas have been proposed to look into these phenomena.
	a) record		b) investigate		c) describe			d) explain
29.	From the earliest times, men have observed changes that happen in nature.
b) take place	b) result		c) meet				d) take part
30.	Articles in daily use which are made of plastics are familiar to everybody.
b) papers	b) objects		c) subjects			d) packages

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.

Britons beaten to City jobs by students with other languages

Continental competitors with better language skills are beating British graduates to jobs in the City of London and jobs in commerce. Businesses are no longer prepared to accept a monolingual workforce and the inability of otherwise well-educated Britons to speak a language other than English is becoming a handicap.
	A spokesman for the London Chamber of Commerce said: “Unfortunately the British are well down the league table of linguistic ability. Companies realize that there is business to be won out there and they need the staff who can speak foreign languages.” An EU research project discovered that 14% of British firms lost trade through linguistic and cultural barriers.
	Eurostar, which runs trains between London, Paris, and Brussels, needs staff who can speak English, French, and Dutch. French and Belgian graduates cope much better in theses languages than their British counterparts. A spokesman said: “this is because they seem to be better at speaking second languages to a higher level, with, where necessary, appropriate technical knowledge.”
	The food and drink group Diageo has decided that ‘knowledge of more than one language’ demonstrated that a candidate had the ability to ‘think across cultural boundaries’, which is important in the business world.

1. Compared with their continental equivalents British graduates are poorly educated.
2. City businesses have realized that they are less competitive than before.
3. The London Chamber of Commerce suggests that the British are successful with Eurostar because they are the worst at learning languages.
4. French and Belgian graduates are successful with Eurostar because they combine languages with something extra.
5. Diageo suggests that languages and cultural awareness go together.
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Варіант 25
1. Оберіть вірний варіант (a, b, c або d)

1. Since the 17th century economists __________ methods for studying the use of economic resources. 
a) has developed		b) have been developing		c) are developing			d) have been developed
2. They ______ to start the project a month ago.
a) might 		b) must				c) had 				d) should
3. The data __________ outweighed those that we had had before.
a) obtained		b) obtaining			c) to obtain			d) to be obtained
4. They suggest that such results _____ very carefully considered.
a) should be 		b) to be				c) must been			d) would be
5. We had our plan _____ by the board yesterday.
a) approving 		b) to approve			c) will be approved		d) approved
6. During tomorrow’s demonstration ______will be an interval of fifteen minutes.
a) it			b) they				c) there				d) here
7. This computer is so simple that it ________ be operated by anyone.
a) can 			b) is able to			c) need				d) ought
8.  It will take months for the new proof … thoroughly.
a) being checked  	b) to be checked			c) checked			d) to check
9. The experiments show agreement with the theory ________ the conditions are met.
a) unless			b) since				c) so that			d) if
10. The field tests were postponed _____ unfavorable weather conditions.
a) because of 		b) on account			c) because			d) since
11. Having been asked to speak at the symposium, _____________
a) some notes were prepared for Dr Knapp.			c) some notes were prepared by Dr Knapp
b) Dr Knapp prepared some notes.				d) the participants were pleased to hear Dr Knapp.
12 ________  any further details, we will inform you immediately.
a) If we found out	b) If we find out 			c) Should we have found out	d) Had we found out
13. Only the first choice was hard to make, _____________
a) no trouble weren’t causing by the rest of the choices.	c) no trouble to cause by the rest of the choices.
b) the rest of the choices to  be caused no trouble.		d) the rest of the choices causing no trouble.
14. It is possible for computers __________ all types of information.
a) that they handle		b) handling 		c) to handle 			d) when handling
15. _______ one of our European representatives.
a) Don’t forget to contact		b) Let contact		c) Miss not to contact		d) Don’t let contact
16. We must admit that the old method _________ some difficulties.
a) causing			b) causes		c) cause				d) to cause
17. France has not taken any decision yet, and
a) neither has some of the other countries. 			c) several other countries hasn’t either.
b) some other countries also haven’t. 			d) neither have several other countries.
18. I am looking forward to __________ with good news.
a) when you return		b) when you will return		c) your returning 		d) return you
19. He can’t recall when and where_______ that model.
a) he saw			b) did he see			c) does he see		d) he will see
20. It was essential that we _______ fresh data to confirm our idea.
a) would obtain		b) will obtain		c) to obtain		d) shall obtain
21. We can estimate the future growth of production.
a) guess			b) value			c) provide		d) prove
22. The computer has a word processing facility.
a) defect			b) institution		c) source		d) installation
23. It is a versatile material because it can be used in a great number of ways.
a) waterproof		b) man-made		c) scarce			d) many-sided
24. Madame Curie inspired many women to do scientific research.
a) implied		b) assisted		c) required 		d) stimulated
25. The discovery was significant and paved the way for other scientists’ work.
a) important		b) universal		c) available 		d) ordinary
26.The premises can be adapted  for our purposes.
a) provided		b) substituted		c) adjusted		d) improved
27. The amount of money owed by some countries is so enormous that it will probably never be repaid.
a) insufficient		b) huge			c) tiny			d) average
28. Although these theories were believed to be true for centuries, they were discredited by further experiments.
a) supported		b) disregarded		c) disproved		d) satisfied
29. These materials and products are expensive partly because they are so deficient.
a) abundant		b) rare			c) complex		d) vital
30. Success was attained after numerous experiments.
a) observed		b)achieved		c) produced		d) occurred

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.

HOW MANY WAYS TO SAY HELLO?
When two people meet in Tokyo they say konnichiha which means hello. But if they answer the phone, they say moshi moshi. Japan isn’t the only country to have its own special ‘telephone language’. The Spanish say hola for hello but on the phone they answer digame. Literally digame means ‘tell me’ – but this sounds very rude in English. Similarly, if a caller heard the words: I’m ready in London or New York, they think this was very strange. They’d ask ‘ready for what?’ But in Italy the word pronto! means exactly this.
	The rules for answering the phone in the international workplace seem to be more universal. Phone a business number and the receptionist is likely to say the name of the company and answer more politely or formally. For example, in English you make the polite offer of help with How can I help you? But even this isn’t quite as polite as the very formal Norwegian response: var so god literally meaning ‘be so good’.

5. Many nationalities greet people differently on the phone than they do face-to-face.
6. The Spanish are rather impolite when speaking on the phone.
7. When an Italian meets you in the street he greets you with the words meaning ‘I’m ready’.
8. At work, different nationalities use a similar approach to answering the phone.
5.	Italians are always ready to speak
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Варіант 26
1. Оберіть вірний варіант (a, b, c або d)

1. They ________ some kind of agreement by the end of next year. 
a) have reached		b) are reaching		c) had been reached		d) will have reached
2. An experienced manager _______ think too much before taking decisions.
a) doesn’t have to	b) needn’t 		c) won’t be able			d) hasn’t to
3. ___________ they do the results of their work are always good.
a) Moreover		b) In view of		c) Whatever 			d) However
4. It was important that we _______ fresh data to confirm our idea.
a) would obtain		b) must obtain		c) to obtain			d) shall obtain
5. They are still having their computer ______
a) repairing 		b) repaired		c) to repair			d) to be repaired
6. _____ seems to be something wrong with my modem.
a) It 			b) There			c) Me				d) Here
7. When I finish the course next year, I _______ speak perfect French.
a) will			b) can			c) will been			d)
) one  most largest	b) one of the larger	c) one of largest			d won’t be able
8. Cuba is _______ sugar-growing areas in the world.
a) one of the largest
9. The system will not fail to perform ___ the requirements are satisfied.
a) lest			b) provided		c) if 				d) in case
10. The inspector said the safety precautions _____ inadequate. 
a) will be		b) are			c) have been			d) were
11. Having been presented with the facts, _________
a) the problem was discussed by the members of the committee. 		d) they proved to be  very interesting.
b) the members of the committee discussed the problem.			c)  they were proved to be very interesting.
12. They stated that the book … especially for the computer professional.
a) will design		b)had designed		c) was designed			d)would design
13. This computer is so simple that it ________ be operated by anyone.
a) can 			b) is able to		c) need				d) ought
14. The data __________ outweighed those that we had had before.
a) obtained		b) obtaining		c) to obtain			d) to be obtained
15. __________ not only this method but also possible alternatives.
a) Don’t consider		b) To consider		c) Considering			d) Let’s consider
16. There is a second approach to the problem that _______ a slight time saving.
a) don’t provide		b) provides		c) providing			d) provide
17. California relies heavily on income from fruit crops, and
a) so does Florida.	b) Florida too.		c) Florida is as well.		d) neither does Florida.
18. We are interested in _________ us about the results.
a) that she inform	b) when she will inform	c) her informing 			d) her to has informed
19. Before we appointed the new Chairman, our share price ... very low.
b) would be		b)were being		c) have been			d) had been
20. . . . about that event, he replied nothing.
a) Asking 		b) Having asked		c) Was asked			d) Being asked 

21. The small amount of water and food in this area cannot sustain the large population.
a) guarantee		b) survive		c) support			d) decrease
22. These modern computers have only some of human traits.
a) beings		d) organs		c) characteristics			d) qualifications
23. He performed experiments to confirm what they had proposed.
a) verify			b) disprove		c) contradict			d) survive
24. The project was postponed due to negative economic conditions.
a) contemporary		b) appropriate		c) adequate			d) unfavourable
25.The subject was controversial for a long time, and there will probably never be complete agreement.
a) disputed		b) interesting		c) discussed			d) topical
26. The concept is difficult to grasp from a definition alone, but a description makes it easier to visualize.
a) depict			b) understand		c) explain			d) verify
27.The goal of all scientific investigation is to predict the future.
a) cause			b) result			c) use				d) aim
28.We can give other examples of scientific achievements that were a result of joint efforts.
a) competition		b) conversation		c)cooperation			d) contradiction
29.Mathematics gives precision to science.
a) accuracy		b) significance		c) challenge			d) prominence
30. In the 20th century, Britain developed gradually from an industrial economy into a service economy.
a) progressed		b) modified		c) upgraded			d) evolved

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
PHONE RAGE

What drives you to lose your temper on the telephone? Being kept waiting, being connected to voice mail or being passed on to someone else are all common flashpoints. But what infuriates people most of all is talking to someone who sounds inattentive, unconcerned or insincere, according to a survey published recently.
The study by Reed Employment Services, a recruitment company, found that nearly two-thirds of people feel that ‘phone rage’ (people losing their temper on the telephone) has become more common over the past five years. The reasons for this are threefold, according to Reed. People are much more likely to express anger over the phone, rather than in writing or face-to-face. Moreover, telephone usage has been rising steeply over recent years. Increasing numbers of transactions take place entirely by phone, from arranging insurance to paying bills.
In addition, people’s expectations have risen. Nearly three-quarters of respondents to the Reed survey said they are more confident that their problems can be solved over the telephone than they were five years ago.
Companies are taking steps to improve their staff’s telephone answering techniques. The survey found that 70 per cent of organizations require their staff to answer the telephone with a formal company greeting. But a third of organizations do not give any training, or they train only their receptionists. That may not be enough, the report says. As companies move towards ‘remote working’, the need for the right tone of voice extends to every level of the organization.

6. Today the number of people who lose their temper on the phone is increasing.
7. People are more willing to express anger in writing or face-to-face.
8. People arrange insurance and pay bills by phone.
9. You couldn’t solve a lot of problems over the phone five years ago.
10. The report says companies should train only their receptionists.
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Варіант 27
1. Оберіть вірний варіант (a, b, c або d)

1. The danger of radiation for human health makes us … different means of protection.
a) develop		b) to have developed	c) to develop	d) to be developed
2. For the first time since the industrial revolution, … than 10% of American workers are now employed in manufacturing.
a) least			b) more 			c) as many as 	d) farther
3. It will take months for the new proof … thoroughly.
a) being checked		b) to be checked 		c) checked   d) to check
4. The conference was devoted to the subject they ... for two years.
a) had been investigating		b) investigated 		c) did investigate		d) investigate
5. Technological improvements are needed … wind, solar and hydrogen can be more viable parts of the energy equation.
a) lest		b) because of	c) so that	d) unless
6. The discussion . . . very interesting. It is a pity I couldn’t stay.
a) was 	b) will be 	c) would be 	d) were
7. I have to do some extra work now because one of my colleagues … a holiday.
a) has 		b) has had 	c) is having 	d) would have
8. If it … a country, California would be one with more people than Canada and an economy the size of China's.
a) would be 	b) has been 	c) will be 	d) were
9. So far no attempts …to improve the situation. 
a) must to be made	b) will make	 c) must be making	d) must have been made
10. The result of this study is intriguing, and surely worth … in a larger piece of research.
a) to follow up 		b) to be followed up 	c) following up	d) followed up
11. It is important that this project should be adequately financed. Then… .
a) a number of other difficulties will appear 	c) it will succeed
b) there is little hope that it will succeed 		d) it will be too late
12.… this theory may seem it does have some weak points.
	a) No matter how convincing	 b)In spite of convincing 	c) Provided it is convincing d) In order to convince
13. She hasn't begun working on her Ph.D. … working on her master's.
a) still because she is yet	b) yet as a result she is still	c) still while she is already	d) yet because she is still
14. The more she worked, ….
a) the less she achieved	b) she achieved not enough	c) she did not achieve enough	d) she was achieving less
15. He has received several scholarships ….
a) not only because his artistic but his academic ability 	c) because of his academic and artistic ability
b) for both his academic ability as well as his artistic		d) as resulting of his ability in the art and the academy
16. In software construction there are some techniques that permit us to recognize ….
a) if not correct a given program is	  b) if a given program is correct   c) or is a given program correct  d) isn't a given program correct
17. The students liked that professor's course because ….
a) there was few if any homework 			c) there was little or no homework
b) not a lot of homework was			d) of there wasn't a great amount of homework
18. There has already been mentioned the fact that scientific discoveries … .
a) which cannot be wholly dealt with on a national scale 	c) proving scientists’ new hypotheses
b) makes the problem far more complicated than it seems 	d) are greatly assisted by the developments in research techniques
19. Not only has demand been high, but … is coming from places that are hard to reach.
a) also the oil we have been finding	b) unless we found oil	c) finding the oil	d) we have been finding oil
20. The chairman requested that … ..
a) the members studied more carefully the problem 	c) with more carefulness the problem could be studied
b) the problem would more carefully be studied	d) the members studied  the problem more carefully
21. We also have a series of public lectures given by guest speakers.
a) number	b) matter	c) means	d) sort
22. It is now common corporate policy for a company to have a mission statement explaining the aims of the business.
a) strategic	b) domestic	c) international 	d) organizational
23. I want you to illustrate your point by providing some supporting examples.
a) receiving	b) removing	c) obtaining	d) supplying
24. More and more students decide to study for a Master’s degree to enhance their knowledge. 
a) employ	b) improve	c) evaluate	d) apply
25. You are obliged to present an electronic version of your report.
a) informed	b) known	c) required	d) proposed
26. The amount of money owed by some countries is so enormous that it will probably never be repaid.
a) insufficient	b) huge 		c) tiny		d) average
27. The experiments were conducted simultaneously in London and Rome.
a) at the same time	 b) step by  step		c) in the same place	d) from time to time
28. When testing a hypothesis, every effort is made to eliminate subjective or biased ideas.
a) consider	b) modify	c) avoid		d) reduce
29. People should be aware of the ecological threats caused by this kind of production.
a) ignorant	b) careful	c) conscious	d) opposite
30. Scientists are still disputing about the origin of the Universe.
a) experimenting		b) arguing	 c) thinking 	d) explaining

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.

We have been trained throughout our business careers to suppress our individual voice and to sound like a "professional" - that is, to sound like everyone else. If you need to hear how the professional voice sounds, dig out a memo you wrote four years ago and compare it with how you’d write an e-mail about it now. A professional memo obeys rules such as one page is best, no jokes, spell-check it carefully and send it to as few people as possible.
Now we write e-mails. They’re short, they’re funny; they sound like us, and we cc the CEO whenever we feel like it. E-mail is a more immediate medium than paper. My expectation of the response time to many messages I send is today, not tomorrow or a week from now. This urgency means I’m more likely to write quickly and conversationally when I respond to a message. A lot of the spontaneity in e-mail messages comes from writers breaking through their natural caution and reserve, rushing the writing process, giving themselves permission to be blunt, honest and sincere in response to a query.
 That’s why most of us don’t want to use a word processor to write our e-mails. We want to be free of the expectation that we’ve spell-checked it or even re-read it before firing it off. We certainly don’t want to waste our time messing about with fonts and margins.

6. The rules of writing memos are stricter than the ones about e-mails.
7. People prefer writing e-mails to memos.
8. You’ll need much time for getting the response to an e-mail.
9. The professional memo should be long.
10. The author of the text waits for the answer to his e-mail for a week.

                   Укладач: проф. Горошко О.І. ____________________________

                   Завідувач кафедри: проф.Горошко О.І.________________



МІНІСТЕРСТВО ОСВІТИ І НАУКИ УКРАЇНИ
Національний технічний університет 
«Харківський політехнічний інститут»


КОМПЛЕКСНА КОНТРОЛЬНА РОБОТА

Напрям підготовки	054 Соціологія
Дисципліна			"Іноземна мова за фахом"  

Варіант 28
1. Оберіть вірний варіант (a, b, c або d)

1. … he got the best grade on the quiz surprised everyone.
a) the fact what	b) the fact that 	c) the fact if	d)  the fact when
2.That experiment demonstrates that people have trouble …more than seven digits in sequence.
a) recalled	b) being recalled	c	c) recalling	d) having recalled
3.They stated that the book … especially for the computer professional.
a) will design	b) was designed		c)had designed	d)would design
4.That company’s electric cars … to be virtually trouble-free.
a) report		b) are reporting 		c)reports	d)are reported
5.It is essential that she … us beforehand.
a) is calling	b) shall call	c)should call	d)was to call
6. Henry Ford’s introduction of the assembly line vastly reduced the time it took …
a) to make a car		b) making a car 		c)for making car		d)a car to make
7. In terms of population, Bangkok, Thailand , is … than Barcelona, Spain.
a) as large	b) larger		c)the largest	d) more large
8.France, where this process …, took an early lead in aluminum production.
a) was developed 	b) will develop	c) has developed		d)were to develop
9.Until 1845, scientists failed to discover a process which … separate aluminum from its various alloys.
a) must		b) could		c)will		d)ought
10.Mr Williamson  … the firm soon whether or not he voluntarily turns in his resignation.
a) has left	b) are leaving	 c)have left	d)will be leaving
11.The project faced a whole series of difficulties. Yet, despite all of them… .
a) the organizers decided to abandon their plan.	c) it was a complete failure.
b) it proved to be a great success.			d) the difficulties were impossible to overcome. 
12.It is important that this project be adequately capitalized and that strict accounting procedures be applied from the beginning. Otherwise , … .
a) its success will be assured		c) there are a number of further measures which should be taken
b) there is little hope that it will succeed		d) nothing will go wrong
13.Scientists know that the huge Hola crater in Arizona was made by a meteorite, but do not know exactly … .
a) when did the meteorite hit the earth	c) when the meteorite the earth hit	
b) when the meteorite hit the earth		d) when did the earth hit the meteorite
14. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated 	d) Having translated 
15.The number of Internet buyers in Latin America is growing fast, … .
a) while Europeans do not like electronic commerce		c) though one can have a computer now
b) yet, you can always find products on the Internet		d) however, there are many advantages to buying on the Internet
16. The road repairs . . . on the motorway had seriously delayed the traffic.
a) will carry out	b) having carried out	c) being carried out	d) to carry out
17…, ozone levels in the ionosphere have dropped recently.
a) However the reason	b) They are the reason	c) What is the reason	d) Whatever the reason
18 Our firm seems  . . . a large number of outdated computers.
a) to have 	b) have		c) has		d) having  

19. He didn’t know how long the staff training course . . . 
a) will last	b) lasts		c) can last	d) would last
20.While dozens of popular authors claimed to be experts on the subject, … .
a) there were much other such authors		c) none of them had studied it in a systematic way
b) some of the authors are not really so popular	d) there being no experts on other subjects
21. The company has experienced a number of significant changes in the last few years.
a) influenced	b) undergone		c) required	d) implemented
22. You should speak more loudly and more slowly when you want to emphasize an important point.
a) introduce 	b) stress		c) discover	d) report
23. The North Americans consume more energy and resources than any other nation.
a) use 		b) generate	c)make		d) apply
24. One of the most important skills to learn is how to utilize your time effectively.
a) take notice of		b) pay attention to		c) take care of		d) make use of
25. The outcome of the experiment was a complete surprise to everyone.
a) beginning	b) start		c) result			d) launch
26. He is a pleasant colleague, and very proficient at his job.
a) skilled	b) profitable		c) popular	d) active
27. They declared that they had been the first to discover those facts.
a) proposed	b) introduced	c) stated		d) demonstrated
28. The theory proved to be correct and was a major breakthrough in the history of science.
a) true		b) valuable	c) unique		d) false
29. Communication between researchers is dependent on precise definition of concepts and ideas.
a) faulty		b) broad		c) accurate	d) standard
30. The results obtained signify that we still know very little about these phenomena.
a) convince	b) disprove	c) guarantee		d) indicate

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
If you have decided to study a foreign language, the next question is which one? Given the number of languages on the globe, this decision is not easy and will be influenced by many factors. Experts don’t agree on exactly how many languages are spoken in the world; the figure is somewhere between 3,000 and 6,000. Estimates are that within the next 100 years half of these languages will disappear and with them some of the diversity of cultures. Since no one language can express all forms of human thought and ideas, this reduction would make all humanity poorer. One problem is a definition of what constitutes a language. An additional factor is the distinction between language and dialect.
	At what point does a person speak a different language from ours, and at what point does a person speak a dialect, or variation of our language? To a German from the north who speaks Plattdeutsch, the dialect called Swabian or Bavarian from the South are in many ways unintelligible and, therefore foreign languages. Officially, however, all three are dialects of German. The Japanese, even though they like to tell us they are a homogeneous culture, have dialects.
	India is the prime example of linguistic diversity with about 600 languages, of which 14 major languages are spoken by about 90 percent of the population. This diversity causes problems both domestically and internationally. The 14 languages belong to two distinct language families. Languages in the north are Indo-European; in the south, Dravidian. In order to facilitate communication in the country, India recognizes three official languages, Hindi, English, and the local language. Of course, the number of people who actually speak English fluently is small and restricted to the educated upper middle class. Among that group, many people speak English even at home. They use the local language for communication with servants.

6. The number of languages has grown from 3,000 to 6,000 over the past two centuries.
7. There are forecasts that 50% of languages won’t exist in the next century.
8. There are clear features that can help us distinguish between a language and a dialect.
9. Although people in India speak 600 languages, they don’t have problems understanding one another.
10. Not all Indians can speak English, though it’s one of the three official languages.
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Варіант 29
1. Оберіть вірний варіант (a, b, c або d)

1. . . . more attention is now being paid to environmental issues.
a) Great		b) Very 		c) Much		d) Too
2. The device is very delicate and has to . . .  with great care.
a) be handled 	b) be handling		c) handle	d) being handled
3. These methods of purifying industrial wastes . . . much attention to recently.
a) was given 		b) have been given		 c) were giving		d) had to been given
4. He . . . left a message for you, here it is.
a) was 			b) is		 c) will			 d) has
5. When you wake up tomorrow, I . . . over the Atlantic ocean.
a) would fly 		b) will be flying 		c) must fly		d) can fly
6. The system is dangerous, . . . must use it.
a) everything	b) anybody	c) no one	d) somebody
7. She plans . . . to study the alternatives and to implement them soon.
a) also		b) both		c) either		d) not only
8. . . . into English, the article was published in a scientific journal.
a) To have translated	b) Having been translated		c) To have been translated		d) Having translated
9. The trainee . . . writing the report before the director came.
a) finished 	b) was finishing		c) should finish		d) had finished
10. They like to work in the central public library and so . . . I.
a) do		b) like			c) am		d) work
11. If she … a skilled programmer, they would offer her a good position in a big company.
a) been			b) being 		 c) were			d) should
12. He didn’t know if there . . . a special mechanism used in the process.
a) have existed		b)were existing 		c) existed		d) exist
13. If I had remembered his number, I would . . . him.
a) telephone 	b) be telephoning		c) telephoning		d) have telephoned
14. The European computer companies insisted that a better relationship with the public authorities . . . be built in Europe.
a) should to	b) will		c) had to 	d) are to
15. They won’t change their decision until they . . . more information.
a) got 		b) get		c) will get	d) would get
16. They discussed their points after they . . . the contract.
a) have signed 		b) signing 		c) having signed		d) had signed
.17.  . . at from this point the problem doesn’t seem too difficult. 
a) Looking 	b) Having looked		c) Will be looked		d) Being looked
18. He was sorry because he. . . the device before.
a) not having tested 	b)does not test		c) hadn’t tested 		d) isn’t testing
19. The gravitational forces do not let the planets ... the solar system.
a) leave		b) leaving	c) to be left		d) to leave.
20. Our firm seems  . . . a large number of old computers.
a) to have		b) have			c) has 		d) having
21. University regulations state that students must pass 18 modules to graduate.
a) promote	b) plan			c) report		d) declare
22. Most economists forecast that China will become a leading world economy in the 21st century.
a) consult	b) discuss		c) predict	d) offer
23. These countries are forced to rely on aid from richer nations in order to feed their population.
a) give up 	b) look after	c) go on		d) depend on
24. The new computer system created a lot of interest among potential users.
a) generated	b) maintained		c) lost		d) showed
25 Employees are keen to recruit people who have at least a basic ability in computing.
a) research 	b) qualification		c)contribution	d) application
26. Preliminary results suggest that we are going in the right direction.
a) experimental 		b) initial		c) encouraging		d) ultimate
27. Don’t assume something is true until facts confirm it.
a) accept	b) deny 		c) describe	d) predict
28. The University must make sure that your English is sufficient.
a) excellent 	b) moderate		c) huge		d) adequate
29. When the government increased the tax on petrol, there was a significant rise in transport costs.
a) resultant	b) considerable		c) continuous	d) simultaneous
30. Until the last century, this concept was regarded as a ridiculous idea.
a) suggested		b) preferred		c) considered		d) applied

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
The amount of socializing you do prior to and during a negotiation will depend both on your own and the opposing team’s negotiating styles and where the negotiation is being held. In Japan, for example, the negotiation process is long and relationship-building plays an important part. The same is true of the Middle East. In the USA things move faster and their negotiating style tends to be more informal and adversarial. In Germany there may be little time for small talk.
	Mixing with colleagues out of work-hours is an integral part of business in America where many companies are run like sports teams with the boss as both captain and coach. Elsewhere, there may be a strong dividing line between work and home.
Business people from Arab and Latin countries tend to have a more flexible, ‘polychromic’ attitude to time than their ‘monochromic’ North American and North European counterparts, for whom time really is money. Their ‘high-context’ culture also places greater emphasis on personal relationships than ‘low-context’ Northerners do. 
	A good sense of humour is an admired quality in many cultures – notably British, American and most Latin countries – though the type of humour may vary from wordplay to sharp sarcasm to innuendo and even the surreal. In some cultures, however, particularly Germanic ones – humour is not usually considered appropriate in a business context. 
	 Different people have different ideas about where is an appropriate place to do business. For some, talking about golf all morning at the office and business all afternoon on the golf course is quite normal. Others do more business in liars than boardrooms. But these days people are more culturally aware and don’t usually expect foreigners to observe their own business customs. 

1. Socializing plays a significant role when holding business talks in the Middle East.
2. Americans tend not to socialize much with their colleagues or bosses at their leisure time.
3. You should try not to seem too busy for Italians and not mess up Americans’ tight schedules.
4. When doing business with the British or Americans you are strongly advised to leave the jokes for the bar after the meeting.
5. A foreigner guest’s polite refusal to go to a Finnish sauna or a Spanish bullfight will not sound offensive to the host.
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Варіант 30
1. Оберіть вірний варіант (a, b, c або d)

1. This new machine is twice . . . effective as the old one.
a) such		b) more 		c) much 		d) as
2. It should . . . that difficulties can arise at any stage.
a) have remember 	b) be remembering		c) remember		d) be remembered
3. In the last few years, great progress in recycling techniques . . . by this company. 
a) will be made 		b) was being made 		c) has been made 	d) have been  made
4. The discussion . . . very interesting. It is a pity I couldn’t stay.
a) was 		b) have been 		c) will be		d) has to be
5. We . . . the results of the voting by the end of the week.
a) have been computing		b) will have computed		c) compute		d) shall be computing
6. Was . . . present from the European management teams?
a) someone 	b) none			c) anyone 		d) every
7. The problem is interesting enough ... much attention.
	a)will attract 	b)being attracted		c)for attract 		d)to attract
8. We couldn’t use the photocopier, it . . . 
a) was repairing		b)were repaired		c) was being repaired		d) has been repaired
9. Neither the documents . . . the letters are ready yet.
a) either 		b) nor			c) and 		d) or
10. I had already worked in Research and Development before I . . . my present company.
a) joined			b) would join 		c) join 		d) have joined
11. If the designers … looked for new ideas, the well-known companies would have already manufactured a modern portable computer.
a) unless		b) should		c) had 		d) could
12. He didn’t know how long the staff training course . . . 
a) will last	b) lasts		c) can last	d) would last
13. Nowadays young people ask . . . the democratic system is suitable to modern conditions.
a) what 			b) if 		c) about 		d) that
14. The results would improve if we . . . more time on planning.
a) shall spend 		b) spent			c) have been spending 		d) spend
15. It is necessary that these techniques . . . applied in parallel. 
a) must be	b) has been 		c) has to be 		d)  should have been
16. The road repairs . . . on the motorway stopped the traffic.
a) was carried out		 c) being carried out 		b) having carried out		d) to carry out
17. When . . . about that event, he replied nothing.
a) asking 		b) having asked 		c)was asked		d)  being asked
18. He didn’t want to . . . any modifications to the original design.
a) making		b) make 			c) be made		d)  being made
19. Such examples are too numerous . . . as exception.
a) for being treat 		b) to be treated 		 c) to treatment		d) for been treated
20. The region is developing successfully, with rates of investment . . . significantly.
a) growing 	b) will grow		 c) were growing		d) be growing
21.  This concept was not recognized until the 16th century.
a) theory	b) principle		c) fact		d) method
22.It was obvious that there was a fact linking these events.
a)  unexpected 	b)  clear		c) indistinct	d) wrong
23.The lecturer concluded with a brief review of the main points.
a)  started 	b)  continued		c) finished	d) added
24.They have decided to start an investigation.
a)  finance	b)  support		c) assist		d) initiate
25.We understand that they will be able to interpret the results correctly.
a)  stress 	b)  support 		c) confirm		d) realize
26.It is essential that you check your research results to make sure they are correct.
a)  fundamental		b)  secondary		c) main		d) ordinary
27.In some instances, there was no improvement, but generally the changes were a success.
a)  causes		b)  processes		c) tests		d) cases
28.Wages and inflation are closely linked, in that as one rises or falls so does the other.
a)  disconnected 		b)  interrelated 		c) affected		d) observed
29.The main cause of their refusal was lack of funds.
a) immediate 		b) reasonable 		c) basic		d) specific
30.The results of the tests verified that our theory was correct.
a)  recorded		b)  explained 		 c) discovered		d) proved

2. Прочитайте текст. Визначте, чи є наступні речення вірними (True) чи ні (False) відповідно до тексту.
Culture and language are intertwined and are shaping each other. It is impossible to separate the two. Language is not neutral codes and grammatical rules. Each time we select words, form sentences, and send a message, either oral or written, we also make cultural choices. We all agree that language helps in communicating with people from different backgrounds. However, we may be less aware that cultural literacy is necessary in order to understand the language being used. If we select language without cultural implications, we may at best not communicate well and at worst send the wrong message.
	In our own environment we are aware of the implications of the choices. For example, if an American says, “How are you?” other Americans register the phrase as Hello, rather than the literal meaning. A foreigner, who knows some English but is not familiar with the culture and usage of English, may attribute a very different meaning to the phrase and interpret it more literally. He or she, for example, may 
· consider the phrase too personal and think that it is none of your business how he is;
· think that you literally mean what you say and proceed to answer the question;
· consider you insincere because it becomes obvious that you are not really interested in the answer.
The point is that words in themselves do not carry the meaning. The meaning comes out of context. Germans who have lived in the US for many years will take on many American behavioral patterns. They may be more outgoing and enthusiastic, less formal, more optimistic. When they go back to Germany, it will be more difficult for them to establish connections and feel comfortable with Germans, who are usually more reserved.

1. Knowing language is the most important thing when dealing with people from other cultures.
2. When people want to make an inquiry about your health in English, they say “How are you?”
3. The meaning of words often depends on context.
4. It is very difficult for people living in a foreign country to change their behaviour according to local standards.
5. Relations between people in Germany are usually rather official.
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